S22(28)-LHAAN
[ 20200101 ~ 20201231 ]
No.| olgg $AIER AN Eamxglg 3|$045‘$E*iﬂ S Lye 204 EEANEY HID
1| 20200102 | XI2iAIE] SR2= Mol N 2 50,000 |HIXIZERA2 E4CMS
2 |1 20200102 | KIZAIS] =323 JH el N Bl x* 50,000 HXNESAZ
3 | 20200102 |XI2iAlEl S22 Hol N N bk 10,000 |HIXZEA2
4 | 20200102 |KI2iAlSl S22 Hol N N 2 10,000 |HINEEZ
5 | 20200102 | XISiAlSl S2= ol N N e 5000 |HINE=22
6 | 20200102 | KNI AIS| S22 Mol N N <P 10,000 |HINZS2
7 120200102 | KIZAIS =323 Jpel N N DPHx 30,000 HXNE=2Z
8 | 20200102 |XI2AISl S22 Hol N =S 10,000 |HIXZ=2 E4CMS
9 | 20200102 | KIZAlIS =323 JHel N xx 10,000 X822 S48CMS
10| 20200102 | XI2iAtS| =212= Hol N =1 10,000 |HINZHEHZ S4CMS
11| 20200102 | X% AlE E212= Mol N Hxx 10,000 |HINZS2 54CMS
12| 20200102 | XIALS| ERI2E | 0I2HEHH) N N (xx 50,000 |HIXIE=A2 E4CMS
13| 20200103 | X%t AtS] 2= Mol N N <P 30,000 |HIXIZ=AZ
141 20200106 | KIGAIS 222 el N N Gk 10,000 X822
15| 20200106 | X2t AtS| =22= Hol N N 0l %% 10,000 |HIXZS2
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16| 20200106 | KIGAIS 2222 Hel N O #* 10,000 HXE=AZ2
17| 20200106 | XIZAlS| ERA2E oMol N N Shex 3,000 |HIXEEA2
18| 20200106 | XIZAlE| A= Mol N 2k 20,000 |HINEEAZ S4CMS
19| 20200106 | XIS AlE| EARE oMol N Pk 10,000 |HIXIEEZ 54CMS
20| 20200108 | KIZAlIS] =323 ol 2HCHR| N N Klxx 30,000 XSRS S48CMS
21| 20200108 |XI2iAtE EA2= oMol N 0] % 30,000 |HIXNEEAZ 54CMS
22| 20200108 |XICiAtE E22= pIxel N T xx 30,000 |HIXNEEZ S4CMS
23| 20200110 | XI2iAIE] 22 = ool N N Shex 3,000 |HIXNEEAZ
24| 20200110 |KICiAIS 222 = oMol N N Pk 10,000 |HIXIEE22
251 20200110 | KIZAIS] =323 Hel N N Of ** 10,000,000 | A&E=AZ2
26| 20200113 | KI2iAIE| 22 = oMol N Sk 50,000 |HINZEAZ S4CMS
271 20200113 | KIS AIS] =323 Hel N N Elg 30,000 HIXEZ=RZ
28| 20200113 | KI2iAIE| EA2E oMol N N 2wk 10,000 |HIXE=22
29| 20200113 | KISAIE| SRAZE| QIZHEHH N N = 20,000 |HIXEEAZ S4CMS
30| 20200113 | KISiAlE| 22 = oMol N 2wk 100,000 |HIXIHE2A2 54CMS
31| 20200113 |KI2AIE 22A2= el N 0l % 30,000 |HIXEEZ S4CMS
32| 20200113 | KIZAIS] =323 Hel N P *x 20,000 HXE=Z S48CMS
33| 20200113 | KICiAtE 222 pILel N &1 % 20,000 |HIXNEEAZ E4CMS
34| 20200113 | KIZAIS] =323 Ol 2-CHR| N N I Kk 50,000 HXE=AZ2 S48CMS
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35| 20200113 | KIZAIS] =323 Ol 2-CHR| N N Tk 50,000 HXE=AZ2

36| 20200113 | KISiAtE 222 = oMol N Slwx 20,000 |HINEEAZ

371 20200113 | K€ AlS S22 Hel N Blx* 20,000 HXNESRZ

38| 20200113 | KI2iAtE| 22 = oMol N 2wk 20,000 |HIXEEAZ =
39| 20200113 | KIZAIS] =323 Hel N Frx 10,000 XSRS =2
40 | 20200113 | XICiAlE 222 = oMol N 2wk 10,000 |HIXES22 =
411 20200113 | KIGAtE =333 Hel N L 10,000 HXNEEAZ =2
42| 20200113 | XIGAIS =]2S JH el N L*rx 10,000 HXE=JZ2

431 20200113 | KIGAtE =333 JH el N L *x 10,000 HXNEZEAZ

441 20200113 | KIGAIE =323 JH el N Alxx 10,000 HXEZ2Z

45| 20200117 | XICiAIE 22 = oMol N N £ x 20,000 |HIXEEAZ

46| 20200117 | KIGEAIE =323 JH el N N I *x 10,000 HIXEZ=RZ

47| 20200117 | XICiAIE EA2E oMol N N S 10,000 |HIXIEEAZ

48 20200117 | KIGAtE =332 JH el N N =2 5,000 HXNESAZ

491 20200117 | KIS Atel =323 JHel N N Bl 10,000 HXNEZAZ

50| 20200117 | K€ AtSl S22 Hel N Of** 100,000 HXEZ2Z

511 20200117 | KIS AIS] 3323 Hel N 2k 20,000 HXE=Z

52| 20200117 | KISAIS| ERA2E| QIZHEHF N N Sk 50,000 |HIXESZ

53| 20200120 | KIZAIS] =323 el N N O #* 5,000 HIXE=&
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541 20200120 | KIS AIS] =323 Jpel N N L rx 10,000 HXE=AZ2
55| 20200120 | XISiAtS E22= oMol N N 2wk 5000 |HIXEEAZ
56 | 20200120 | A€ AlS =323 Hel N N L 10,000 HXNESRZ
57| 20200120 | XISiAtE 22 = oMol N N o wx 10,000 |HIXES=22
581 20200120 | KIZAIS] =323 Hel N N O #* 10,000 XSRS
59| 20200120 | XISiAtE 22 = oMol N N X %% 5000 |HIXEEA2
60| 20200120 | KIZ AL =323 Hel N N Al xx 20,000 HAEZAZ
61| 20200120 | KIZAIS] =323 JH el N N owx 5,000 HXE=JZ2
62 | 20200120 | KIL AL =323 JH el N N D 10,000 HXNEZEAZ
63| 20200120 | KIZAIS] =23 JH el N N | x* 10,000 HXEZ2Z
64| 20200120 | KISiAtE 222 = oMol N N 2wk 10,000 |HIXES2
65| 20200120 | KIS AIS] =323 Hel N N Ml ** 30,000 HIXEZ=RZ
66| 20200121 | KIL Al =322 JH el N N ES LR 30,000 HXNEZEAS
67| 20200121 | KIS AIS] ]33 JH el N N L 50,000 HXNESAZ
68| 20200121 | KIL Al =322 JHel N N Olxx 10,000 HXNEZAZ
69 | 20200121 | K€ AtS EA33 JHel N N Lrx 30,000 HXEZ2Z
70| 20200121 | KIS AIS] =323 JH el N N L rx 30,000 HXE=Z
711 20200121 | KILAS =323 Hel N N Ak 10,000 HXNEZ=EAS
721 20200121 | KIZAIS] =323 el N N Qkx 10,000 HIXE=&
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731 20200122 | KIS AIS] =323 Hel N N Hxx 30,000 HXE=AZ2
74| 20200122 | KISiALE SR2E oMol N N CI 50,000 |HIXEEAZ
75| 20200122 | XI2iAIE| 222 = oMol N M xx 10,000 |HIXEE2 S4CMS
76 | 20200122 | XISiAtE ER2E oMol N CI 30,000 |HIXEEAZ 54CMS
771 20200122 | KIS AIS] =323 JH el N L 20,000 XSRS S48CMS
78| 20200123 | XICiAlE 22 = oMol N N Thex 10,000 |HIXIEE=Z
79| 20200123 | XISiAtE 222 = oMol N N 2wk 60,000 |HINEEAZ
80 | 20200128 | XISiAlE 22 = ool N N Ok 10,000 |HIXIEEAZ
8120200128 | XI2iAlE E22= oMol N N Hlx 50,000 |HIXEEZ
82| 20200128 | AIGAIE =323 JH el N N Hxx 20,000 HXEZ2Z
83| 20200128 | XI2iAlE| 222 = oMol N N T wx 10,000 |HIXES2
841 20200128 | AIGAIE =323 JH el N Hxx 50,000 HIXEZ=RZ
85| 20200128 | XI2iAlE| ERA2E oMol N Blxx 20,000 |HIXEZ=AZ
86 | 20200128 | X2 AIE| SR2= oMol N N Ol xx 5000 |HIXEEA2
87 | 20200128 | XI2iAlE S22 = oMol N = xx 10,000 |HIXIEEAZ
88| 20200128 | XI2iAlE 22A2= oMol % N I 10,000 |HIXIEE22
89 20200128 | KNI AIE )23 Hel N N Fxk 50,000 HXE=Z
90 | 20200128 | XICiAtS 222 = oMol N N 2wk 50,000 |HINZEAZ
911 20200128 | KIZAIS] =323 el N N Shxx 150,000 HXE=AZ2
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92| 20200128 | KIZAIS] =323 Hel N N O #* 10,000 HXE=AZ2

93| 20200128 | KICiAtE 222 = oMol N Alwx 10,000 |HIXES2

94| 20200128 | XI2iAIE| 222 = oMol N N T xx 10,000 |HIXEE2

95| 20200128 | XISiAIE| 22 = oMol N 0] % 10,000 |HIXIEEZ

96| 20200128 | KIZAlIS] =323 Hel N N R # 10,000 XSRS

97| 20200128 | XIoiAtE| 22 = oMol N N Ok 20,000 |HINEEAZ

98| 20200128 | KICiAtE 222 = oMol N N 2wk 10,000 |HIXES2

99 | 20200128 | XI2iAIE 22 = ool N N 2wk 5000 |HIXEZA2

100| 20200128 | X AlS| ERA2E el N 2k 10,000 |HIXIEE22

101] 20200128 | KIZAlIS] 323 Hel N N Elg 10,000 HXEZ2Z

102| 20200128 | XIHAIS| SRA2E | QI2FCHY| N N Shax 30,000 |HINEEAZ S4CMS
103]| 20200130 | KIZAIS] EJ2S JHel N L *x 10,000 HIXEZ=RZ S48CMS
104] 20200130 | X AIE| EARE oMol N T wx 10,000 |HIXE=22 54CMS
105 20200130 | XAl E2A2E oMol N | xx 10,000 |HIXIEE2 S4CMS
106] 20200130 | X% AIS| EARE oMol N £ x 10,000 |HIXIEEAZ 54CMS
107| 20200130 | X% AIEl A= oMol N N Thxx 5000 |HIXEEA2

108| 20200130 | KIZAIS] EJ32Z Hel N N O #* 30,000 HXE=Z

109] 20200130 | X AIS| EA2E oMol N N £ +x 20,000 |HIXNEEAZ

110] 20200130 | KIZAIS] EJ32Z el N | xx 20,000 HXE=AZ2
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111] 20200130 | KIZAIS] EJA2Z Hel N N A xx 20,000 HXE=AZ2

112] 20200130 | X AlS| EA2E oMol N 2wk 50,000 |HINZEAZ E4CMS
113] 20200130 | X AIEl A= Mol N Blxx 10,000 |HIXEE2 S4CMS
114 20200130 | XIHAIS| SRA2Z | QI2+CHY| N N K% 50,000 |HIXIEEAZ 54CMS
115] 20200130 | KIZAIS] /23 JHel N L *x 50,000 XSRS S48CMS
116 20200130 | XIHAIS| SRA2ZE | QIFCHY| N N Ok 100,000 |HIXIHE2A2 54CMS
117] 20200130 | X AlS| ERA2E pIxel N £ +x 20,000 |HIXNEEZ S4CMS
118| 20200130 | XIHAIE| ERA2Z | QI2+CH| N N Sxx 10,000 |HIXIEEAZ 54CMS
119] 20200130 | X AlS| ERA2E el N N M wx 50,000 |HIXEEZ S4CMS
120] 20200130 | KIZAIS] =323 JH el N U *x 50,000 HXEZ2Z S4CMS
121] 20200130 | XIHAIS| ERA2E | QI2FCHY| N N Zxx 50,000 |HIXIEEAZ S4CMS
122| 20200130 | KIZAIS] =323 Hel N (** 50,000 HIXEZ=RZ S48CMS
123 20200130 | XIHAIS| SRA2Z | QI2FCHY| N N = 50,000 |HIXZEAZ 54CMS
124] 20200130 | XAl EA2E ool N Shxx 20,000 |HIXEEAZ S4CMS
125| 20200130 | X AIS| EARE oMol N &1 % 20,000 |HIXEEAZ 54CMS
126] 20200130 | X% AIEl A= oMol N [ 20,000 |HINEEAZ S4CMS
127] 20200130 | KIZAIS] EJ32F Hel N B owx 20,000 HXE=Z S48CMS
128] 20200130 | X% AlS| EA2E oMol N Bl xx 20,000 |HIXNEEAZ E4CMS
129| 20200130 | KIZAIS] EJ32F el N L rx 20,000 HXE=AZ2 S48CMS
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130] 20200130 | KIZAIS] EJ2F Hel N =2 20,000 HXE=AZ2 S48CMS
131] 20200130 | X AlS| ERA2E oMol N Lhxx 20,000 |HINEEAZ E4CMS
132| 20200130 | XIGAtS =23 Hel N O #* 20,000 HXNESRZ =4

133| 20200131 | XIGAte =23 JHel N N Bl x* 100,000 HXNEZAS

134 20200131 | KIZAIS] EJ23 Hel N N L*x 30,000 XSRS

135| 20200131 | X AlS| EARE oMol N N Ol % 30,000 |HINEZEAZ

136| 20200131 | XAIGAtE =322 Hel N N Hrx 20,000 HAEZAZ

137 20200131 | XIGAIS =23 JH el N N ES LR 20,000 HXE=JZ2

138| 20200131 | XIGAlE =322 JH el N N Of** 30,000 HXNEZEAZ

139 20200131 | KIZAIS] 23 JH el N N Alxx 30,000 HXEZ2Z

140| 20200131 | XIGAte =23 Hel N N Shxx 30,000 HIXNEZAS

141] 20200131 | KIZAIS] EJA2Z JH el N N L rx 20,000 HIXEZ=RZ

142] 20200131 | XIS EARE oMol N N 2wk 20,000 |HIXEZ=AZ

143| 20200131 | XAIGAIE S22 JH el N Of** 100,000 HXNESAZ

144 20200131 | XIS Ate =23 JHel N N Al 10,000 HXNEZAZ

145| 20200202 | XIGAtel =223 JHel N Of** 10,000 HXEZ2Z

146| 20200203 | KIZAIS] EJ32F JH el N N I kx 5,000 HXE=Z

147] 20200203 | XIGAtg =322 Hel N N & wx 10,000 HXNEZ=EAS

148| 20200203 | KIZAIS] EJ32F el N N P Hx 30,000 HIXE=&
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149| 20200203 | KIZAIS] EJ32F Hel N N Hxx 30,000 HXE=AZ2

150| 20200203 | X A5 ERA2E oMol N 2wk 50,000 |HINZEAZ E4CMS
151| 20200203 | XIHAIEl SRA2Z | QI2FCHY| N N (s 50,000 | HINZERAZ S4CMS
152| 20200203 | X AlS| EARE oMol N T xx 10,000 |HIXIEEZ 54CMS
153] 20200203 | KIZAIS] 323 Hel N SHx 10,000 XSRS S48CMS
154] 20200203 | X A5 EARE oMol N Blax 50,000 |HIXEEAZ 54CMS
155| 20200203 | XIS A3 EA2E oMol N N 2wk 10,000 |HIXES2

156| 20200203 | X AIE| EA2RE ool N N CI 10,000 |HIX=EE2

157| 20200205 | XIS AS] A2 = oMol N N 0] % 10,000 |HIXIEE22

158| 20200205 | KIZAIS] 323 Hel N N Shxx 3,000 HXEZ2Z

159] 20200205 | X AlS| EA2RE oMol N N Shex 3,000 |HIXEEA2

160]| 20200205 | KIZAIS] EJ323 Hel N Prx 10,000 HIXEZ=RZ S48CMS
161] 20200205 | X% AlS| EA2RE oMol N 2wk 20,000 |HIXEZ=AZ 54CMS
162| 20200206 | XAl E2A2E oMol N N I 10,000 |HIXIEE2

163] 20200207 | X AlS| EARE oMol N 0] % 30,000 |HIXNEEAZ 54CMS
164] 20200207 | X% AIEl A= el N Tk 30,000 |HIXEEZ S4CMS
165| 20200207 | KIZAIS] EJ323 Ol 2-CHA| N N Kxx 30,000 HXE=Z S48CMS
166] 20200210 | XIS AS| A= pILel N N Pk 10,000 |HIXIEEZ

167 20200211 | KIZAIS] 323 el N N Sl 30,000 HXE=AZ2
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168| 20200212 | KIS AIS] EJ2Z Jpel N Lk 100,000 HXE=AZ2

169] 20200212 | X AlS| EA2E oMol N 0] % 30,000 |HIXEEAZ

170 20200212 | XIGAtSl =25 Hel N Lok 20,000 HXNESRZ

171] 20200212 | X AS| EARE oMol N Blxx 10,000 |HIXES=22 =
172] 20200212 | KIZAIS] 323 JH el N L 10,000 XSRS =2
173] 20200212 | X AlS| EARE oMol N 2wk 10,000 |HIXES22 =
174( 20200212 | KIGAIS S =23 Hel N L 10,000 HXNEEAZ =2
175| 20200212 | KNI AIS S22 JH el N L*rx 10,000 HXE=JZ2 k=1
176[ 20200212 | KIGAIS] S =3 JH el N FHx 10,000 HXNEZEAZ k=3
177] 20200212 | KIS AIS] /23 JH el N L 20,000 HXEZ2Z =2
178] 20200212 | X AlS| EA2RE pIxel N CT 20,000 |HIXEEAZ =
179 20200212 | KIZAIS] EJA23 JHel N Alwx 20,000 HIXEZ=RZ =2
180| 20200212 | XIHAIS| ERA2Z | QI2FCHY| N N Zxx 50,000 |HIXEEAZ =
181] 20200212 | XIGAIE =322 ol 2HCHR| N N Ioxk 50,000 HXNESAZ =
182] 20200212 | X AIE| EARE oMol N &1 % 20,000 |HIXEEAZ

183| 20200212 | XIGAtel =223 JHel N Tk 50,000 HXEZ2Z

184| 20200212 | KIZAIS] EJ32Z Ol 2-CHA| N N SHx 20,000 HXE=Z

185| 20200217 | X AlS| EA2E pILel N Rxx 10,000 |HIXES2

186| 20200217 | KIZAIS] EJ2Z el N L rx 10,000 HIXE=&
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187] 20200217 | NIZAIS] EJ32Z Hel N O #* 10,000 HXE=AZ2

188] 20200217 | X AlS| EA2E oMol N N £ +x 20,000 |HIXEEAZ

189| 20200217 | XIGAlS =23 Hel N N Blx* 10,000 HXNESRZ

190| 20200217 | XIGAte =323 JHel N N Ik 10,000 HXNEZAS

191] 20200217 | NIZAIS] /23 Hel N N Sxx 10,000 XSRS

192] 20200217 | X AlS| EA2RE oMol N N ek 5000 |HIXEEA2

193| 20200218 | AIGAtE =322 Hel N N Obsx 20,000 HAEZAZ

194| 20200218 | XIGAIS =25 JH el N N INEE 5,000 HXE=JZ2

195| 20200218 | XIGAtE =322 JH el N N Howx 5,000 HXNEZEAZ

196| 20200218 | KIZAIS] EJ23 JHel N N L 10,000 HXEZ2Z

197] 20200219 | X AS| EA2RE pIxel N 2wk 20,000 |HIXEEAZ E4CMS
198| 20200219 | KIZAIS] /23 ol 2HCHR| N N S* 50,000 HIXEZ=RZ S 48CMS
199] 20200219 | X AlE| EARE oMol N N 2wk 5000 |HIX®EAZ

200]| 20200220 | KIZAlS] =323 JHel N N L 10,000 HXNESAZ

201| 20200220 | XISiAlE| EA2E oMol N N 0] % 10,000 |HIXIEEAZ

202| 20200220 | A€ At E3A33 JHel N N D 10,000 HXEZ2Z

203]| 20200220 | KIZAIS] =323 JH el N N L rx 10,000 HXE=Z

204| 20200220 | XICiAIS 222 = oMol N N 2wk 10,000 |HIXES2

205| 20200220 | KIZAIS] =323 el N N | xx 10,000 HIXE=&
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206| 20200220 | KIZAIS] =323 Jpel N N L rx 10,000 HXE=AZ2

207| 20200220 | XI2iAlE 222 = oMol N N Hlx 30,000 |HIXEEAZ

208| 20200220 | XISiAlE| E2A2E oMol N N M xx 20,000 |HINEEAZ

209| 20200220 | XI2iAlE EA2E oMol N N 0] % 5000 |HIXEEA2

210] 20200221 | K2 AIS] =323 Hel N N Qbwx 10,000 XSRS

211| 20200221 | XICiAlE EA2= oMol N N Bhwx 10,000 |HIXIEE=Z

212| 20200221 | XICiAtE 22 = oMol N N 2wk 50,000 |HINEEAZ

213| 20200221 | XISiAlE 22 = ool N N 3P 30,000 |HINEEAZ

214| 20200221 | XICiAIE 22 = oMol N N A xx 10,000 |HIXIEE22

215] 20200221 | KIZAIS 323 JHel N N L 30,000 HXEZ2Z

216| 20200221 | XICiAlE ERA2= pIxel N N 2wk 30,000 |HINEEAZ

217] 20200223 | KIZAIS] 323 ol 2HCHR| Swx 200,000 HIXEZ=RZ

218| 20200224 | XISiAIE| EA2E oMol N N Thex 10,000 |HIXIEEAZ

219] 20200224 | XISl SRI2E ool N N T xx 30,000 |HIXEEZ

220| 20200224 | XISiAIE| EA2E oMol N M xx 10,000 |HIXIEEAZ 54CMS
221| 20200224 | XISiAlE| EA2E oMol N I 30,000 |HIXEEZ S4CMS
222| 20200224 | KIZAIS 323 JH el N L rx 20,000 HXE=Z S48CMS
223| 20200225 | KIGAIS 2323 Hel N N 2 x 5,000 HXNEZ=EAS

224 20200225 | KIZAIS =323 el N =2 10,000 HXE=AZ2
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225| 20200225 | KIZAIS =323 Jpel N Alwx 10,000 HXE=AZ2
226| 20200225 | KIGAIS 2323 Hel N N L 5,000 HXNEZEAS
227( 20200225 | KIS AS =323 Hel N N Ob* 10,000 HXNESRZ
208 20200225 | XI2iAlE| EA2E oMol N N 2wk 60,000 |HINEZEAZ
229| 20200225 | KIZAIS =323 JH el N N Shxx 150,000 XSRS
230| 20200225 | XICiAlE| EA2E= oMol N N 2wk 50,000 |HIXZEAZ
231] 20200225 | K€ AlS] 323 Hel N T xx 50,000 HAEZAZ
232| 20200225 | KIS AIS =322 JH el N N Of*x* 30,000 HXE=JZ2
233]| 20200226 | KIZAIS S22 JH el N N T xx 20,000 HXNEZEAZ
234| 20200226 | KIZAIS] 323 JH el N L 10,000 HXEZ2Z
235| 20200226 | XI2iAIE| ERA2= pIxel N N Blax 10,000 |HIXIEEZ
236| 20200226 | KIZAIS] 323 JHel N Alwx 20,000 HIXEZ=RZ
237| 20200226 | KIHAIE| E2A2E | QI2HCH| N N Shwx 30,000 |HINEZEAZ
238| 20200227 | NIZAlS] =323 JHel N N Of** 10,000 HXNESAZ
239| 20200227 | XISiAlE| EA2E oMol N £ x 10,000 |HIXIEEAZ
240( 20200227 | AIZAtS S333 JHel N ESE 10,000 HXEZ2Z
241] 20200227 | KIZAIS] 323 JH el N L rx 20,000 HXE=Z
242| 20200227 | XICiAIS ERA2= oMol N Slwx 10,000 |HIXES2
243| 20200227 | KIZAIS] 323 el N O #* 20,000 HIXE=&
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244] 20200227 | NIZAIS 323 Jpel N =R 20,000 HXE=AZ2

245| 20200227 | XICiAlS 222 = oMol N Zxx 20,000 |HIXEEAZ

246( 20200227 | NS AIS =323 pjigel N L 20,000 HXNESRZ

247| 20200227 | XICiAIE| ERA2E oMol N Bl xx 20,000 |HIXEEAZ =
248| 20200227 | NIZAIS =323 ol 2HCHR| N N R 50,000 XSRS =2
249| 20200227 | XICiAlE| EA2E= oMol N 2wk 50,000 |HIXZEAZ =
250] 20200227 | KIZAIS S22 Ol 2HEER N N Obsx 100,000 HXNEEAZ =2
251 20200227 | KIZAIS] =323 pliRedl N ES LR 20,000 HXE=JZ2 k=1
252| 20200227 | KIHAIE| ZERA2E | QI2HCH| N N Fxx 10,000 |HIXIEE22 =
253| 20200227 | NIZAIS] 323 JHel N U wx 50,000 HXEZ2Z =2
254| 20200227 | KIHAIE| ZERA2E | QIZHCH| N N Zxx 50,000 |HIXIEEAZ =
255| 20200227 | KIZAIS] 323 Hel N (** 50,000 HIXEZ=RZ =2
256| 20200227 | KIHAIE| ERA2E | QI2HCH| N N = 50,000 |HIXZEAZ =
257| 20200227 | NIZAIS =323 JHel N Of ** 20,000 HXNESAZ =
258| 20200227 | KICiAIE| EA2E oMol N [ 20,000 |HIXEEAZ

259( 20200227 | AIZAtS S3A33 JHel N Howx 20,000 HXEZ2Z

260| 20200228 | KIZAIS] 323 JH el N Alxx 10,000 HXE=Z

261| 20200228 | XICiAIE 222 = oMol N N Hlx 50,000 |HIXESZ

262| 20200228 | KIZAIS] EJ32F el N N & *x 10,000 HIXE=&
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263| 20200229 | XI9AlS &)2E2 Hel N N =1 50,000 HXEZA2
264| 20200301 | X2 AlS| BoI2= el N S 10,000 |HIXIZ=2=Z
265| 20200302 | KI9AIE &)/22 el N N A xx 20,000 HXEZ=A2
266| 20200302 | X2 AlS| B2I2= el N N & xx 20,000 |HIXIHs2=2
267| 20200302 | KI9AIE &)/22 Jpel N ES R 20,000 HXEZ=A2
268| 20200302 | X2 AlE| BoI2= el N N 2%k 20,000 |HIX=EE2A2
269| 20200302 | X9 AlE =225 el N N 2 xx 20,000 HAEZ=RZS
270| 20200302 | NI AlS &2 JHel N N Of*x 30,000 HAESJAZ
271] 20200302 | K| ¥ AlS =225 el N N X|x* 20,000 HXEZ=AZ2
272| 20200302 | KIZ9AIE &)22 Jpel N N Shxx 30,000 HXEZ=A2
273| 20200302 | X2 AlE| BRI2= el N Shex 20,000 |HIXms2=2
274| 20200302 | KI9AIE &)22 Jhel N N Ol x* 30,000 HXEZ=A2
275| 20200302 | X2 AlE| B22= el N N E|xx 20,000 |HIXIZs=2=
276| 20200302 | X9 AlE =225 el N N Lbxx 30,000 HXEZ=AA2
277| 20200302 | X1 AlE| BR2= el N N Alxx 30,000 |HIXES22
278| 20200302 | KI9AIE &)/22 el N N Ghxx 10,000 HXEZ=AZ2
279| 20200302 | NI AlE &/22 Jpel N O ** 100,000 HXEZ=A2
280| 20200302 | X2 AlE| BoI2= el N = 30,000 |HIxms2= S4CMS
281| 20200302 | KI9AlE &/22 JHel N Of*x 20,000 HXES&A a4 S
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282| 20200302 | KIZAIS] =323 Jpel N Lk 50,000 HXE=AZ2 S48CMS
283| 20200302 | XICiAlE 222 = oMol N 2wk 10,000 |HIXES2 E4CMS
284| 20200302 | XISiAIE| E2A2E oMol N T xx 10,000 |HIXEE2 S4CMS
285| 20200302 | XICiAIE| ERA2E= oMol N CI 50,000 |HIXIEEAZ 54CMS
286| 20200302 | KIZAIS] =323 JH el N N DHx 30,000 XSRS

287| 20200302 | XICiAlE EA2= oMol N N Blxx 10,000 |HIXES22

288| 20200302 | XICiAlS 22 = oMol N N 2wk 10,000 |HIXES2

289| 20200302 | XISiAIE EA2E ool N N T wx 10,000 |HIXIEEAZ

290| 20200302 | XICiAtE ER2= oMol N N Thxx 5000 |HIXEEA2

291 20200302 | KIZAlIS] =323 JH el N N I *x 5,000 HXEZ2Z

292| 20200303 | XICiAIE| ERA2= oMol N N Hax 30,000 |HIXEEAZ

293| 20200304 | KIZAIS] =323 Hel N owx 10,000 HIXEZ=RZ S48CMS
294| 20200304 | XISiAIE| EA2E= oMol N Pk 10,000 |HIXIEEAZ 54CMS
295| 20200304 | XIZAIE| SRI2E ool N = 10,000 |HIXIEE2 S4CMS
296| 20200304 | KIHAIE| ERA2E | DI2HCH| N N (e 50,000 |HIXEEAZ 54CMS
297| 20200304 | XISiAIE| E2A2E el N 2xx 50,000 |HIXEEZ S4CMS
298| 20200304 | KIZAIS] =323 JH el N L rx 20,000 HXE=Z S48CMS
299| 20200305 | XICiAIE ER2= oMol N N 0] % 10,000 |HIXIEEZ

300| 20200305 | KIZAIS] =323 el N N Shxx 3,000 HXE=AZ2
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301]| 20200305 | KIZAIS] =323 Hel N N Shxx 3,000 HXE=AZ2

302| 20200306 | XICiAlS ER2= oMol N N CI 10,000 |HIXIEE=2

303| 20200306 | XISiAlE| 222 oMol N 0l #* 10,000 |HIXEE2

304| 20200307 | XICiAlE 22 = oMol N ek 50,000 |HIXIEEAZ

305| 20200309 | KIZAlIS] =323 Hel N owx 30,000 XSRS S48CMS
306| 20200309 | XICiAlE| S22 = oMol N 0] % 30,000 |HIXNEEAZ 54CMS
307| 20200309 | KIHAIE| ERA2Z | QIZHCH| N N Sk 30,000 |HINEEAZ S4CMS
308| 20200310 | XICiAlE 22 = pIEel N N Pxx 10,000 |HIX=EE2

309| 20200311 | XICiAlE E22= el N N CI 30,000 |HIXEEAZ

310] 20200312 | KIZAIS] =323 JH el N N L 10,000 HXEZ2Z

311| 20200312 | XICiAlE 22 = oMol N 2xx 50,000 |HIXIEEAZ S4CMS
312| 20200312 | KIZAIS] =323 JH el N L rx 100,000 HIXEZ=RZ S48CMS
313| 20200312 | XICiAlE EA2E el N 0] % 30,000 |HIXEEAZ 54CMS
314| 20200312 | X2 AIE| SR2=E oMol N Qe 20,000 |HINEEAZ S4CMS
315| 20200312 | XICiAlE S22 oMol N Blxx 10,000 |HIXES=2 54CMS
316| 20200312 | XI2iAlE| EA2E oMol N 2xx 10,000 |HIXIEE22 S4CMS
317] 20200312 | KIZAIS] 323 JH el N L rx 10,000 HXE=Z S48CMS
318| 20200312 | XICiAlE 222 = oMol N 2wk 10,000 |HIXES2 E4CMS
319| 20200312 | KIZAIS] 323 el N L rx 10,000 HXE=AZ2 S48CMS
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320| 20200312 | KIZAIS] =323 Ol 2-CHR| N N SHx 20,000 HXE=AZ2

321| 20200312 | XICiAlE 222 = oMol N Dk 50,000 |HINZEAZ

322( 20200312 | A€ AlS S323 pjigel N Of ** 20,000 HXNESRZ

323| 20200312 | NIGAle 223 Q1 2HEER N N Ik 50,000 HXNEZAS k=
324 20200312 | KIZAIS] =323 ol 2HCHR| N N Thk 50,000 XSRS =2
325| 20200312 | XICiAlE| SR = oMol N Blxx 20,000 |HINEEAZ =
326| 20200312 | KIZGAIS 23 Hel N Ela 20,000 HXNEEAZ =2
327| 20200312 | KIZAIS] =323 JH el N L*rx 20,000 HXE=JZ2 k=1
328| 20200312 | KIZGAIS| 323 JH el N FHx 10,000 HXNEZEAZ =)
329| 20200316 | KIZAIS] =323 JH el N L 10,000 HXEZ2Z

330| 20200317 | XICiAlE 22 = oMol N 0] % 10,000 |HIXIEEZ

331] 20200317 | KIZAIS] 323 Hel N N Elg 10,000 HIXEZ=RZ

332| 20200317 | XICiAlE S22 oMol N N = 20,000 |HIXEEAZ

333]| 20200317 | KIZAIS] S22 JH el N N Frx 10,000 HXNESAZ

334| 20200317 | KIS AlS =23 JHel N N I Hx 10,000 HXNEZAZ

335( 20200317 | AIZAlS S3A33 JHel N N ESE 20,000 HXEZ2Z

336| 20200318 | KIZAIS] EJA2Z JH el N N Olx 20,000 HXE=Z

337| 20200318 | XICiAlS 222 = oMol N N 2wk 10,000 |HIXES2

338| 20200318 | KIZAIS] EJA2Z el N N owx 5,000 HIXE=&
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339| 20200318 | KIZAIS] EJA23 Hel N N Klxx 5,000 HXE=AZ2
340| 20200318 | KIHAIE| ZRA2E | QIZHEH| N N Sxx 50,000 |HIXEEAZ
341( 20200318 | AIZAlS S3A23 pjigel N L 20,000 HXNESRZ
342| 20200319 | XICiAIE 22 oMol N N 2wk 5000 |HIXN®EAZ
343| 20200320 | KIZAIS] =323 JH el N N L 10,000 XSRS
344| 20200320 | XICiAIE| S22 = oMol N N 2wk 10,000 |HIXES22
345| 20200320 | KIZAIS 323 Hel N N e 10,000 HAEZAZ
346| 20200320 | AISAIS =322 JH el N N Of*x* 10,000 HXE=JZ2
347] 20200320 | K€ AlS] S22 JH el N N D 10,000 HXNEZEAZ
348| 20200320 | KIZAIS] =323 Hel N N O #* 5,000 HXEZ2Z
349| 20200320 | K€ AlS =23 Hel N N ESER 10,000 HIXNEZAS
350]| 20200320 | KIZAIS] 323 JH el N N L rx 10,000 HIXEZ=RZ
351] 20200320 | KIZAlS =323 JHel N N Ml 30,000 HXNEZEAS
352| 20200320 | KIZAIS] =323 JHel N N Al 20,000 HXNESAZ
353| 20200322 | KIHAIE| ERA2E | QI2HCH| S 100,000 | HIXIHE2
354( 20200323 | A€ Al S3A33 Hel N N L *x 30,000 HXEZ2Z
355| 20200323 | KIZAIS] 323 Hel N N Hxx 30,000 HXE=Z
356| 20200323 | XICiAlS 222 = oMol N N 2wk 30,000 |HINEEAZ
357| 20200323 | KIZAIS] =323 el N N | xx 30,000 HIXE=&
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358| 20200323 | KIZAIS] EJ323 Hel N N A xx 10,000 HXE=AZ2

359| 20200323 | XICiAlE 222 = oMol N N 2wk 50,000 |HINZEAZ

360| 20200323 | XISiAlE| E2A2E oMol N 2k 20,000 |HINEEAZ S4CMS
361| 20200323 | XICiAlE 22 = oMol N CI 30,000 |HIXEEAZ 54CMS
362| 20200323 | KIZAIS] EJ23 Hel N A *x 10,000 XSRS S48CMS
363| 20200323 | XICiAlE S22 = oMol N N Ofxx 10,000 |HIXIEE=Z

364| 20200323 | XICiAlE 22 = oMol N N Blwx 10,000 |HIXI=EEZ

365| 20200325 | XISiAlE| 22 ool N Blxx 20,000 |HIXEEAZ

366| 20200325 | XICiAtE 222 = oMol N N 0] % 30,000 |HIXEEAZ

367| 20200325 | KIZAIS] 323 JH el N N L 60,000 HXEZ2Z

368| 20200325 | XI2iAlS| 22 = oMol N Pk 50,000 |HINZEAZ

369| 20200325 | KIZAIS] =323 JH el N N U *x 5,000 HIXEZ=RZ

370| 20200325 | XISiAlE| EA2E oMol N S wx 10,000 |HIXIEEAZ

371| 20200325 | X2 AlE| SR2= oMol N N 2k 5000 |HIXEEA2

372| 20200325 | XI2iAlE| EA2E oMol N Alwx 10,000 |HIXES=2

373| 20200325 | XICiAlE| EA2E el N N Obx 10,000 |HIXIEE22

374 20200325 | KIZAIS] 323 Ol 2-CHA| N N Shxx 30,000 HXE=Z S48CMS
375| 20200325 | XICiAlE E22= pILel N N Shax 150,000 |HIXIHE2A2

376| 20200325 | KIZAIS] =323 el N N Thxx 10,000 HXE=AZ2

Atz = X & Q1B Ol A CF 20/91




No.| oigy sAza58 sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l S2%} LH = EZEEY HID
377| 20200326 | KIZAIS] EJ32Z Jpel N Lk 10,000 HXE=AZ2

378| 20200326 | XICiAlE| 222 = oMol N N CI 10,000 |HIXIEE=2

379| 20200326 | XISiAlE E2A2E Mol N N Pk 20,000 |HINEEAZ

380| 20200327 | XICiAlE 22 oMol N Ol xx 50,000 |HIXZEAZ 54CMS
381]| 20200327 | NIZAIS] =323 ol 2HCHR| N N R 50,000 XSRS S48CMS
382| 20200327 | XICiAlE EA2E= oMol N 2wk 50,000 |HIXZEAZ 54CMS
383| 20200327 | KIHAIE| ERA2Z | QIZHCH| N N Ok 100,000 |HIXIHE2A2 S4CMS
384| 20200327 | XICiAlE EA2E pIEel N | xx 20,000 |HINESAZ 54CMS
385| 20200327 | KIHAIE| ZERA2E | QIZHCH| N N Fxx 10,000 |HIXIEE22 S4CMS
386| 20200327 | KIZAIS] 323 Hel N N O #* 10,000 HXEZ2Z

387| 20200327 | XICiAlE 22 = oMol N | xx 10,000 |HIXIEEZ S4CMS
388| 20200327 | KIZAIS] 323 Hel N ENE 10,000 HIXEZ=RZ S48CMS
389| 20200327 | XICiAlE EA2E oMol N 2wk 20,000 |HIXEZ=AZ 54CMS
390| 20200327 | X2 AlE| S RI2= ool N Blxx 10,000 |HIXIEE2 S4CMS
391| 20200327 | XICiAlE 22 oMol N 0l %+ 20,000 |HIXEEAZ 54CMS
392| 20200327 | KIGHAIE| ZERA2E |  QI2HCHY| N N = 50,000 |HIXEEZ S4CMS
393| 20200327 | KIZAIS] 323 Ol 2-CHA| N N S r* 50,000 HXE=Z S48CMS
394| 20200327 | XICiAlE 222 = oMol N &1 % 20,000 |HIXNEEAZ E4CMS
395| 20200327 | KIZAIS EJ32F el N xx 20,000 HXE=AZ2 S48CMS
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396| 20200327 | KIZAIS 323 Hel N owx 20,000 HXE=AZ2 S48CMS
397| 20200327 | XI2iAtE 222 = oMol N Bhxx 20,000 |HIXEEAZ E4CMS
398| 20200327 | XISiAlE| E2A2E oMol N 2k 20,000 |HINEEAZ S4CMS
399| 20200327 | XICiAlE 22 = oMol N = 20,000 |HIXEEAZ 54CMS
400| 20200327 | AIGAlE =323 Hel N N A *x 50,000 XSRS S48CMS
401| 20200327 | XIS AlE| EARE oMol N Lhxx 20,000 |HINEEAZ 54CMS
402| 20200330 | XIS LS| ERA2E oMol N N Fwx 10,000 |HIXES2

403| 20200330 | XIZAlE| EARE pIRel N | xx 20,000 |HINESAZ

404| 20200330 | XIS AlS| ERA2E oMol N N xx 20,000 |HIXEEZ

405| 20200330 | XAIGALE =323 Hel N N E|xx 20,000 HXEZ2Z

408| 20200330 | XIS AlE| ERARE oMol N N Frax 5000 |HIXEEA2

407| 20200330 | XAIGALE =22 Hel N N Kl 50,000 HIXEZ=RZ

408| 20200330 | XIZAlE| EARE oMol N Blxx 10,000 |HIXE=22 54CMS
409| 20200330 | XIZAIE| 22 = oMol N 2k 50,000 |HIXEEAZ S4CMS
410[ 20200330 | XIZAlE| EARE oMol N Bhxx 20,000 |HIXEEAZ 54CMS
411| 20200330 | XIZAIE| ERA2E oMol N = 30,000 |HIXEEZ S4CMS
412| 20200331 | XAIFEAIE =23 Hel N N Lp*x 30,000 HXE=Z

413[ 20200331 | XIS AlE| EARE oMol N N 0] % 30,000 |HIXEEAZ

414 20200331 | KIEAIE =23 el N N L rx 20,000 HXE=AZ2
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415| 20200331 | XAIFEAIS =23 Hel N N Hxx 20,000 HXE=AZ2

416| 20200331 | XIS AlE| EA2E oMol N N 2wk 20,000 |HINEEAZ

417| 20200331 | XIZAIEl ERA2E oMol N N S 30,000 |HINEEAZ

418[ 20200331 | XIS AlE| EARE oMol N N Blxx 30,000 |HINEEAZ

419| 20200331 | XAIGAlE =22 Hel N O #* 100,000 XSRS

420| 20200331 | XIS AlE| EARE oMol N N Blxx 10,000 |HIXES22

421| 20200331 | XIS AlE ERA2E pIxel N N Ol % 30,000 |HINEEAZ

422| 20200401 | XIZAIE| EARE pIEel N 2wk 50,000 |HIXEEAZ 54CMS
423| 20200401 |XISAIEl SRA2ZE | QI2tCHY N N (e 50,000 |HIXEEZ S4CMS
424 20200401 | XIGAIE =23 JHel N Hxx 10,000 HXEZ2Z S4CMS
425| 20200401 | XIS AIE| EARE oMol N 2wk 10,000 |HIXES2 S4CMS
426| 20200401 | XIGEAIE 223 JH el N xx 10,000 HIXEZ=RZ S48CMS
427| 20200401 | XIS AIE| EARE oMol N N CI 50,000 |HIXEEAZ

428| 20200401 | XIS AIE| 22 = oMol N N e 5000 |HIXNEEAZ

429| 20200401 | XIS AIE| EARE oMol N N Hxx 10,000 |HIXIEEAZ

430| 20200401 | XIZAIEl ERA2E oMol N N Qe 30,000 |HINEEAZ

431] 20200401 | KIGEAIE 223 Hel N Sxx 10,000 HXE=Z S48CMS
432| 20200401 | XIS AIE EA2RE oMol N N 2wk 10,000 |HIXES2

433| 20200401 | KIEAIE =23 el N N Gk 10,000 HXE=AZ2
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434 20200401 | KIEAIE 223 Hel N Ol** 20,000 HXE=AZ2

435| 20200401 | XIS ALE EA2E oMol N N £ +x 20,000 |HIXEEAZ

436| 20200402 | XIS AIE| EARE oMol N Sxx 10,000 |HIXEE2

437| 20200402 | XIS AlE| EARE oMol N CI 50,000 |HIXIEEAZ 54CMS
438| 20200403 | XIGEALE =322 Hel N N Hxx 30,000 XSRS

439] 20200403 | XIS AlE| EARE oMol N 2wk 20,000 |HINEEAZ 54CMS
440| 20200406 | XIS AlS| EA2RE oMol N N Shex 3,000 |HIXEEA2

441| 20200406 | XIS AIEl EARE ool N N Shex 3,000 |HIXNEEAZ

442| 20200406 | XIS ALS| ERA2E el N N 0] % 10,000 |HIXIEE22

443| 20200406 | XIGAIE =323 Hel N N Elg 10,000 HXEZ2Z

444| 20200408 | XISAIEl SA2ZE | DI2tCHY N N xx 30,000 |HINEEAZ S4CMS
445 20200408 | XIGALE 223 Hel N owx 30,000 HIXEZ=RZ S48CMS
448| 20200408 | XIS AlE| ERARE el N 0] % 30,000 |HIXEEAZ 54CMS
447| 20200410 | XIS AIE] 22 = oMol N N Pk 10,000 |HIXIEE2

448| 20200413 | XIS IS EARE oMol N N 2wk 10,000 |HIXES=2

449| 20200413 | XIS AIEl ERA2E oMol N N I 30,000 |HIXEEZ

450| 20200413 | KIGEAIE 2223 Hel N 2k 50,000 HXE=Z S48CMS
451| 20200413 | XIS ALS EA2RE oMol N 2wk 100,000 |HIXIHEA2 E4CMS
452] 20200413 | KNI AIE 223 el N O #* 30,000 HXE=AZ2 S48CMS
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453| 20200413 | AIGEAIS =23 Hel N PHx 20,000 HXE=AZ2

454| 20200413 | XIS ALS| EA2E oMol N Slwx 10,000 |HIXES2

455| 20200413 | XIGAle =225 Hel N L 10,000 HXNESRZ

456| 20200413 | XIS AIS| EARE oMol N 2wk 10,000 |HIXES=22 =
457] 20200413 | AIGEALE =322 JH el N L 10,000 XSRS =2
458| 20200413 | XIS AlS| EARE oMol N 2wk 10,000 |HIXES22 =
459| 20200413 | XAIGAtE =322 Hel N FHx 10,000 HXNEEAZ =2
460| 20200413 | XIGAIS =R2S JH el N L*rx 20,000 HXE=JZ2 k=1
461] 20200413 | XIGAtE =322 Hel N Ela 20,000 HXNEZEAZ k=3
462| 20200413 | XIGAIE =323 JHel N Alwx 20,000 HXEZ2Z =2
463| 20200413 | XISAIEl SAZZE | DI2tCHY N N Zxx 50,000 |HIXIEEAZ =
464 20200413 | AIGEAIE 2323 ol 2HCHR| N N I *x 50,000 HIXEZ=RZ =2
465| 20200413 | XIS AIE| EARE oMol N &1 % 20,000 |HIXEEAZ

466| 20200413 | XIGAlE =322 Ol 2FEHK N N SHx 20,000 HXNESAZ

467| 20200413 | XIS AIE| EARE oMol N Sk 50,000 |HIXZEAZ

468| 20200416 | XIGAlel =225 Hel N L *x 10,000 HXEZ2Z

469| 20200417 | XIGEAIE 223 Hel N N S*x 20,000 HXE=Z

470| 20200417 | XIGAtg =323 Hel N N Frk 10,000 HXNEZ=EAS

471] 20200417 | XIEAIE =23 el N N I Kk 10,000 HIXE=&
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472| 20200417 | XIGEAIE 223 Hel N N | xx 20,000 HXE=AZ2

473| 20200417 | XIS ALE| EA2E oMol N 0] % 10,000 |HIXIEE=2

474] 20200417 | XIGEALE =23 Hel N N Sl 10,000 HXNESRZ

475| 20200420 | XIS AIE| EARE oMol N N 0] % 10,000 |HIXIEEZ

476| 20200420 | XIGEALE =323 Hel N N Kl*x 5,000 XSRS

477| 20200420 | XIS ALE| EARE oMol N N 0] % 5000 |HIXEEA2

478| 20200420 | XAIGAtE =322 Hel N N Howx 5,000 HAEZAZ

479| 20200420 | XIGAIS =R2S JH el N N Tk 10,000 HXE=JZ2

480| 20200420 | XIGAtE =322 JH el N N ESES 10,000 HXNEZEAZ

481 20200420 | XIGEAIE =323 JH el N N L 10,000 HXEZ2Z

482| 20200420 | XIS LS| EARE oMol N N o xx 10,000 |HIXES2

483| 20200420 | XIGEALE 2223 JH el N N L rx 5,000 HIXEZ=RZ

484 20200420 | XIS Atsl =323 JH el N N Lrx 10,000 HXNEZEAS

485| 20200420 | XIGAtE =322 JHel N N L *x 10,000 HXNESAZ

486| 20200420 | XIS AIE| EARE oMol N N Mxx 20,000 |HIXEEAZ

487| 20200420 | XIGAtel =225 ol 2HCHR| N N Sk 50,000 HXEZ2Z 2 8CMS
488| 20200420 | XIGEAIS 223 Hel N 2k 20,000 HXE=Z S48CMS
489| 20200420 | XIS ALE| EA2E pILel N N Ok 20,000 |HINEEAZ

490| 20200420 | XIEAIE 2223 el N N | xx 50,000 HIXE=&
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491] 20200420 | KIGEAIE =23 Jpel N N L rx 10,000 HXE=AZ2

492| 20200420 | XIS ALS| EARE oMol N N Hlx 30,000 |HIXEEAZ

493| 20200421 | XIS AIE| EARE oMol N N 2k 50,000 | HINZERAZ

494| 20200421 | XIS AIE| EARE oMol N N Ofxx 10,000 |HIXIEEZ

495| 20200421 | XIGALE =322 Hel N N Ol** 10,000 XSRS

496| 20200421 | XIS AlE| EARE oMol N N 2wk 30,000 |HINEZEAZ

497| 20200421 | XIS LS| EA2E oMol N N 2wk 30,000 |HINEEAZ

498| 20200421 | XIS AIE| EARE ool N N Ak 10,000 |HIX=EE2

499| 20200421 | XIS ALE| ERA2E oMol N N | xx 30,000 |HIXEEAZ

500] 20200422 | XIZAIS] 323 Hel N A *x 10,000 HXEZ2Z S4CMS
501| 20200422 | XICiAlE 22 = oMol N Blax 30,000 |HIXEEAZ S4CMS
502| 20200422 | XIZAIS 323 JH el N L rx 20,000 HIXEZ=RZ S48CMS
503| 20200422 | XICiAlE| EA2E oMol N N Hwx 30,000 |HIXEEAZ

504| 20200423 | X2 AIE| SRI2E ool N N Thxx 10,000 |HIXIEE2

505| 20200424 | XISiAIS| EA2E oMol N N 2wk 60,000 |HINZ=AZ

506| 20200426 | KISIAIS| ZRA2E | QI2HCHY| S 100,000 | HIXIHE22

507| 20200427 | KIZAIS 323 Hel N N Gk 10,000 HXE=Z

508| 20200427 | XICiAIS 222 = pILel N S xx 10,000 |HIXIEEZ

509| 20200427 | KIZAIS EJ32Z el N N U *x 5,000 HXE=AZ2
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510] 20200427 | KIZAIS 323 Jpel N o 50,000 HXE=AZ2

511| 20200427 | XICiAlS 222 = oMol N N 0] % 30,000 |HIXEEAZ

512| 20200427 | XISiAIE 22 = oMol N 2k 10,000 |HIXEE2

513| 20200427 | XICiAIE S22 = oMol N e 10,000 |HIXES=22

514] 20200427 | XIZAIS 323 JH el N N xx 10,000 XSRS

515| 20200427 | XICiAlS| S22 = oMol N N Ok 10,000 |HIXES22

516| 20200427 | XICiAlS 222 = oMol N N Pk 20,000 |HINEEAZ

517| 20200427 | XISiAlE 22 E pIEel N N 0] %+ 10,000 |HIX=EE2

518| 20200427 | XICiAlS 222 = el N N S 150,000 | HIXIHE22

519| 20200427 | XIZAIS] 323 ol 2HCHR| N N Shxx 30,000 HXEZ2Z S4CMS
520| 20200427 | XICiAIE ERA2 = pIxel N N 2wk 5000 |HIXNEEAZ

521 20200428 | KIZAlIS] 323 JHel N N xx 10,000 HIXEZ=RZ

522| 20200428 | XISiAIE| EA2E oMol N N Hlxx 50,000 |HIXEEAZ

523| 20200429 | XIS AlE| SR2= oMol N Blxx 20,000 |HIXEEAZ

524| 20200429 | XISiAIE| EA2E oMol N £ x 10,000 |HIXIEEAZ 54CMS
525| 20200429 | XISiAIE| 22 = oMol N | xx 10,000 |HIXIEE22 S4CMS
526| 20200429 | KIZAIS 323 JH el N L rx 50,000 HXE=Z S48CMS
527| 20200429 | XICiAlE 222 = oMol N Slwx 10,000 |HIXES2 E4CMS
528| 20200429 | KIZAlIS EJ32Z el N Tk 30,000 HXE=AZ2 S48CMS
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529| 20200429 | KIZAIS EJ323 Ol 2-CHR| N N R 50,000 HXE=AZ2

530| 20200429 | XICiAlS| 222 = oMol N 2wk 50,000 |HINZEAZ

531[ 20200429 | AIZ Al S323 ol 2HCHR| N N Ob* 100,000 HXNESRZ

532| 20200429 | XICiAlE EA2E= oMol N £ x 20,000 |HIXEEAZ =
533]| 20200429 | XIZAlIS] S22 ol 2HCHR| N N Tk 10,000 XSRS =2
534| 20200429 | XICiAIE SR = oMol N N M 50,000 |HIXEEAZ =
535| 20200429 | XIZAlS S22 Hel N U x 50,000 HXNEEAZ =2
536| 20200429 | XIS AIS =322 Ol 2K N N Tk 50,000 HXE=JZ2 k=1
537 20200429 | XIZAlS S22 Hel N (** 50,000 HXNEZEAZ k=3
538| 20200429 | KIZAlIS] 323 Ol 2HEHK N N =k * 50,000 HXEZ2Z =2
539| 20200429 | XICiAIE| ERA2E pIxel N Bl e 20,000 |HIXEEAZ =
540| 20200429 | KIZAIS] 323 Hel N Of ** 20,000 HIXEZ=RZ =2
541| 20200429 | XISiAIS| EA2E oMol N Blxx 10,000 |HIXE=22 =
542] 20200429 | KIZAIS 323 JH el N Of** 20,000 HXNESAZ =
543| 20200429 | XISiAIE| EA2E oMol N Lhxx 20,000 |HIXEZEAZ =
544( 20200429 | AIZ At S3A33 JHel N =2 20,000 HXEZ2Z k=3
545 20200429 | KIZAIS 323 JH el N L rx 20,000 HXE=Z k=1
546| 20200429 | XICiAlS 222 = oMol N Bl xx 20,000 |HIXNEEAZ =
547] 20200429 | KIZAIS] 323 el N owx 20,000 HIXE=& =
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548| 20200429 | KIZAIS 323 Hel N xx 20,000 HXE=AZ2
549| 20200504 | XICiAlS ER2= oMol N N 2wk 20,000 |HINEEAZ
550[ 20200504 | A€ Al S3323 Hel N N Shwx 30,000 HXNESRZ
551| 20200504 | XISiAIS S22 = oMol N Sxx 10,000 |HIXES=22
552| 20200504 | KIZAlIS] =323 Hel N N Hxx 30,000 XSRS
553| 20200504 | XIS AlS] =23 JHel N N DLk 30,000 HXNEZAS
554 20200504 | XIZAIS S22 Hel N N Axk 5,000 HAEZAZ
555[ 20200504 | XIS AIS =323 JH el N N Thex 5,000 HXE=JZ2
556| 20200504 | XIZAlS] S22 JH el N N Howx 10,000 HXNEZEAZ
557] 20200504 | KIZAlIS] 323 Hel N N Elg 50,000 HXEZ2Z
558| 20200504 | XICiAIS| S22 = oMol N N £ x 20,000 |HIXEEAZ
559| 20200504 | KIZAIS] =323 JH el N N Olx 30,000 HIXEZ=RZ
560 20200504 | XIS AlS 323 JH el N N Lfx 30,000 HXNEZEAS
561 20200504 | XIZAIS] 323 JH el N N Al 30,000 HXNESAZ
562| 20200504 | XISiAIE S22 = oMol N N T wx 20,000 |HIXEEAZ
563| 20200504 | A€ At S333 JHel N L *x 10,000 HXEZ2Z
564| 20200504 | KIZAIS] EJ323 JH el N & *x 10,000 HXE=Z
565| 20200504 | XICiAIS S22 = oMol N Blax 50,000 |HIXESZ
566| 20200504 | KIZAIS 323 el N N Alxx 10,000 HIXE=&
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567| 20200504 | KIZAIS] 323 Hel N O #* 100,000 HXE=AZ2
568| 20200504 | KIZAIS S22 Hel N N Ela 10,000 HXNEZEAS
569| 20200504 | AIZAlS S323 Hel N N L 10,000 HXNESRZ
570| 20200504 | XISiAIS| S22 = oMol N £ x 20,000 |HIXEEAZ
571] 20200504 | XIZAlIS] =323 Hel N N O #* 30,000 XSRS
572| 20200504 | XISiAlE S22 = oMol N N A wx 20,000 |HIXEEAZ
573]| 20200504 | XIZAlS] S22 Hel N N ESER 20,000 HAEZAZ
574( 20200504 | XIS AIS =322 JH el N N L*rx 20,000 HXE=JZ2
575 20200506 | KIZAlS] S22 JH el N Olxx 20,000 HXNEZEAZ
576| 20200506 | KIZAlIS] 323 JH el N N Shxx 3,000 HXEZ2Z
577| 20200506 | XICiAIE S22 = oMol N N Shex 3,000 |HIXEEA2
578| 20200506 | KIZAIS] 323 Hel N owx 10,000 HIXEZ=RZ
579| 20200506 | XISiAIE| EA2E= oMol N 2wk 20,000 |HIXEZ=AZ
580| 20200506 | KIZAlIS] S22 JHel N L *x 50,000 HXNESAZ
581| 20200506 | KIZAlS =23 Hel N N Bl 10,000 HXNEZAZ
582( 20200506 | A€ At S333 ol 2HCHR| N N (** 50,000 HXEZ2Z
583| 20200506 | KIZAIS EJ323 Hel N N O #* 10,000 HXE=Z
584 20200506 | K€ AlS S22 Hel N Srx 10,000 HXNEZ=EAS
585| 20200507 | KIZAIS 323 el N N Hxx 10,000 HIXE=&
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586| 20200508 | KIZAIS] EJ32Z Hel N owx 30,000 HXE=AZ2 S48CMS
587| 20200508 | XICiAlE| E22= oMol N 0] % 30,000 |HIXEEAZ E4CMS
588| 20200508 | XIHAIS] SRA2E | QI2HCH| N N xx 30,000 |HINEEAZ S4CMS
589| 20200511 | XICiAlS| S22 = oMol N N Pk 10,000 |HIXIEEZ

590| 20200511 | KIZAlIS] ]33 Hel N N Sl 30,000 XSRS

591| 20200512 | XICiAlS S22 = oMol N 0l %+ 20,000 |HIXEEAZ

592| 20200513 | XICiAlS| E2= oMol N 2wk 50,000 |HIXEEZ S4CMS
593| 20200513 | XISiAlE| EA2E ool N 2wk 100,000 | HIXIHE22 54CMS
594| 20200513 | XICiAIS 222 = oMol N 0] % 30,000 |HIXEEAZ S4CMS
595| 20200513 | KIZAlIS] =323 Hel N DPHx 20,000 HXEZ2Z S4CMS
596| 20200513 | XICiAlS S22 = oMol N Blxx 10,000 |HIXES2 S4CMS
597| 20200513 | KIZAIS] 323 JH el N L rx 10,000 HIXEZ=RZ S48CMS
598| 20200513 | XICiAlE| S22 = oMol N 2wk 10,000 |HIXE=22 54CMS
599| 20200513 | XIZAIE| S RI2=E oMol N 2k 10,000 |HIXIEE2 S4CMS
600| 20200513 | XISiAIE| EA2E oMol N 2wk 10,000 |HIXES=2 54CMS
601| 20200513 | KISiAIS| 22 = el N Sxx 10,000 |HIXIEE22 S4CMS
602| 20200513 | KIZAIS] EJ32Z Ol 2-CHA| N N SHx 20,000 HXE=Z S48CMS
603| 20200513 | XICiAlS ER2= pILel N Dk 50,000 |HINZEAZ E4CMS
604| 20200513 | KIZAIS] EJ32Z el N Of ** 20,000 HXE=AZ2 S48CMS
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605| 20200513 | KIZAIS] EJ2Z Ol 2-CHR| N N I kx 50,000 HXE=AZ2

606| 20200513 | KIHAIE| ZRA2E | QIZHCH| N N = 50,000 |HIXEEAZ

607| 20200513 | AIZAlS S22 pjigel N Alwx 20,000 HXNESRZ

608| 20200513 | XICiAlS EA2E oMol N CTI 20,000 |HIXEEAZ

609| 20200513 | KIZAIS] EJA23 JH el N L 20,000 XSRS

610] 20200518 | KIZAlS] A2 JHel N N Ik 10,000 HXNEZAS

611] 20200518 | KIZAIS] S22 Hel N N Frx 10,000 HAEZAZ

612 20200518 | KIS AIS S22 JH el N N L*rx 10,000 HXE=JZ2

613]| 20200518 | KIZAIS] EJA23 JH el N N =3 20,000 HXNEZEAZ

614| 20200518 | KIZAIS] 23 Hel N N Klxx 5,000 HXEZ2Z

615| 20200518 | XICiAIS| ERA2= oMol N N £ x 20,000 |HIXEEAZ

616| 20200518 | KIZAIS] EJA23 Hel N N Hxx 5,000 HIXEZ=RZ

617] 20200518 | KIS AlS A2 JH el N N Bl 10,000 HXNEZEAS

618| 20200518 | KIZAlIS] EJA23 JH el N N Obsx 20,000 HXNESAZ

619| 20200518 | KIZAlS =23 JHel N Of** 10,000 HXNEZAZ

620[ 20200518 | AIZ Al SA3S Hel N L *x 10,000 HXEZ2Z

621| 20200518 | KIZAIS] EJA2S Hel N 2k 20,000 HXE=Z S48CMS
622| 20200518 | KIHAIE| ZRA2E | QIZHEH N N Sk 50,000 |HIXESZ E4CMS
623| 20200519 | KIZAIS] EJA2Z el N N L rx 5,000 HIXE=&
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624| 20200520 | KIZAIS] 323 Hel N N Ml 30,000 HXE=AZ2
625| 20200520 | XICiAIS| S22 = oMol N N 2wk 10,000 |HIXES2
626| 20200520 | AIE AT S22 Hel N N A *x 20,000 HXNESRZ
627| 20200520 | XICiAlE 22 = oMol N N ek 10,000 |HIXIEEZ
628| 20200520 | KIZAIS] 323 JH el N N L 10,000 XSRS
629| 20200520 | XICiAIE EA2= oMol N N o wx 10,000 |HIXES22
630| 20200520 | KIZAIS] S22 Hel N N Of** 10,000 HAEZAZ
631| 20200520 | KIS AIS =22 JH el N N Tk 10,000 HXE=JZ2
632| 20200520 | K€ AIS] S22 JH el N N Of** 5,000 HXNEZEAZ
633| 20200520 | KIZAIS] 23 Hel N N E|xx 10,000 HXEZ2Z
634| 20200520 | XICiAIE| 22 = oMol N N 2wk 10,000 |HIXES2
635| 20200521 | KIZAIS] 323 Hel N N Ol** 10,000 HIXEZ=RZ
636| 20200521 | KIS AIS 23 JH el N N Qb xx 10,000 HXNEZEAS
637| 20200521 | KIZAIS] S22 JH el N N L 30,000 HXNESAZ
638| 20200521 | KIS AlS =23 JHel N N Ak 10,000 HXNEZAZ
639| 20200521 | KAIZ Al S3A33 JHel N N ESES 30,000 HXEZ2Z
640| 20200521 | KIZAIS EJ323 JH el N N L rx 50,000 HXE=Z
641| 20200521 | XICiAlS 22 = oMol N N 2wk 30,000 |HINEEAZ
642| 20200522 | KIZAIS] 323 el N Sl 30,000 HIXE=&
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643| 20200522 | KIZAIS] EJ323 Hel N A *x 10,000 HXE=AZ2
644| 20200524 | KIHAIE| ZRA2E | QIZHCH| S 100,000 | HIXIHE22
645( 20200525 | KIZAIS] S323 pjigel N N Howx 30,000 HXNESRZ
646| 20200525 | XICiAIE| S22 = oMol N N 2wk 5000 |HIXN®EAZ
647| 20200525 | KIZAIS] S22 JH el N Blxx 10,000 XSRS
648| 20200525 | XICiAlE| S22 = oMol N N 0] % 30,000 |HIXNEEAZ
649| 20200525 | KIZAIS] S22 Hel N Al 20,000 HAEZAZ
650[ 20200525 | KIS AIS S22 JH el N S 10,000 HXE=JZ2
651| 20200525 | KIZAIS] S JA23 JH el N N U x 5,000 HXNEZEAZ
652| 20200525 | KIZAIS] 323 JH el N N xx 10,000 HXEZ2Z
653| 20200525 | XICiAlE| ERA2= oMol N N 2wk 60,000 |HINZEAZ
654| 20200525 | KIZAIS] 323 JH el N N Shxx 150,000 HIXEZ=RZ
655| 20200525 | XISiAIE| EA2E oMol N N Thex 10,000 |HIXIEEAZ
656| 20200525 | KIZAIS] S22 JH el N N Obsx 10,000 HXNESAZ
657| 20200526 | XISiAIE| EA2E= oMol N 2wk 10,000 |HIXES=2
658| 20200526 | AIZAlS SA33 JHel N N Elg 10,000 HXEZ2Z
659| 20200526 | KIZAIS] EJA2S JH el N N Hxx 20,000 HXE=Z
660| 20200526 | XICiAlS S22 = oMol N N Blax 50,000 |HIXESZ
661| 20200527 | KIZAIS] EJA23 el N | xx 10,000 HIXE=&
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662| 20200527 | KIS AIS] EJ23 Hel N | xx 10,000 HXE=AZ2
663| 20200527 | XICiAlE 222 = oMol N N 0] % 10,000 |HIXIEE=2
664| 20200527 | NS AIS] S3A23 pjigel N L 20,000 HXNESRZ
665| 20200527 | XICiAIE| EA2E= oMol N e 20,000 |HIXEEAZ
666| 20200527 | NIZAIS] EJA23 ol 2HCHR| N N R 50,000 XSRS
667| 20200527 | XICiAlE EA2= oMol N 2wk 50,000 |HIXZEAZ
668| 20200527 | NIZAIS S22 Ol 2HEER N N Obsx 100,000 HAEZAZ
669| 20200527 | KIZAIS] 323 Ol 2-CHA| N N Shax 30,000 HXE=JZ2 k=1
670| 20200527 | KIZAIS S22 Hel N ESEY 20,000 HXNEZEAZ k=3
671| 20200527 | KIZAIS] 323 Ol 2HEHK N N Trk 10,000 HXEZ2Z =2
672| 20200527 | XICiAlE 22 = pIxel N N M xx 50,000 |HIXIEEAZ =
673| 20200527 | KIZAIS] 323 JH el N U *x 50,000 HIXEZ=RZ =2
674| 20200527 | KIHAIE| ERA2E | QI2HCH| N N Zxx 50,000 |HIXEEAZ =
675| 20200527 | KIZAIS] /23 JHel N (** 50,000 HXNESAZ =
676| 20200527 | KIHAIE| ERA2E | QI2HCH| N N = 50,000 |HIXZEAZ =
677| 20200527 | AIZAtS S3A33 Hel N Of ** 20,000 HXEZ2Z k=3
678| 20200527 | KIZAIS] EJ323 Hel N xx 20,000 HXE=Z k=1
679| 20200527 | XICiAlE 222 = oMol N B xx 20,000 |HIXNEEAZ =
680| 20200527 | KIZAIS] EJ32Z el N Ol** 20,000 HIXE=& =
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681 20200527 | KIZAIS] 323 Jpel N Lk 20,000 HXE=AZ2
682| 20200527 | XICiAlE 222 = oMol N Zxx 20,000 |HIXEEAZ
683| 20200527 | AIZAS S3A23 Hel N O #* 20,000 HXNESRZ
684| 20200527 | XICiAlE| 22 = oMol N Lhxx 20,000 |HIXEEAZ
685| 20200528 | KIZAlIS] 23 JH el N N xx 10,000 XSRS
686| 20200528 | XICiAIE| S22 = oMol N N Hlxx 50,000 |HIXEEAZ
687 20200528 | K2 AlS] EJA23 Hel N Al 10,000 HAEZAZ
688| 20200529 | KIS AIS S22 JH el N Y xx 33,000 HXE=JZ2
689| 20200529 | K€ AlIS] S22 JH el N Tk 30,000 HXNEZEAZ
690| 20200529 | KIZAlIS] 323 Hel N Ol*x 20,000 HXEZ2Z
691| 20200529 | XI2iAtE 22 = oMol N 2wk 50,000 |HINZEAZ
692| 20200601 | KIZAIS] 23 Hel N N Lp*x 30,000 HIXEZ=RZ
693| 20200601 | KIZAIS =323 JH el N N ES LR 20,000 HXNEZEAS
694| 20200601 | KIZAIS] S22 JH el N N Howx 10,000 HXNESAZ
695| 20200601 | KIS AIS =23 JHel N N I Hx 5,000 HXNEZAZ
696( 20200601 | AIZAlS SA33 JHel N N PLor* 30,000 HXEZ2Z
697| 20200601 | KIZAIS] EJA2Z Hel N N O #* 30,000 HXE=Z
698| 20200601 | KIZAIS] S22 Hel N N Shxx 30,000 HXNEZ=EAS
699| 20200601 | KIZAIS] EJA2Z el N N L rx 20,000 HIXE=&
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700] 20200601 | KIZAIS] =323 Jpel N N Alxx 30,000 HXE=AZ2

701| 20200601 | XICiAlS 222 = oMol N £ +x 20,000 |HIXEEAZ

702| 20200601 | XISiAIE 222 = oMol N N T xx 20,000 |HINEEAZ

703| 20200601 | XICiAlS 22 = oMol N N £ x 20,000 |HIXEEAZ

704| 20200601 | KIZAIS] 323 JH el N N L 20,000 XSRS

705| 20200601 | XICiAIS EA2= oMol N N A wx 20,000 |HIXEEAZ

706| 20200601 | XICiAlS 22 = oMol N N 2wk 10,000 |HIXES2

707| 20200801 | XISiAlE 22 = pIRel N 0] %+ 100,000 |HIXIHE2A2

708| 20200601 | XICiAlS 222 = oMol N 2k 10,000 |HIXIEE22 S4CMS
709| 20200601 | KIZAIS] =323 JH el N xx 10,000 HXEZ2Z S4CMS
710| 20200601 | XI2iAIE 22 = oMol N N Ol % 30,000 |HINEEAZ

711] 20200601 | KIZAIS] 323 Hel N Sl 50,000 HIXEZ=RZ S48CMS
712| 20200802 | XISiAlE EA2E= oMol N Sxx 10,000 |HIXE=22

713| 20200603 | X2 IS SR2= ool N N T xx 30,000 |HIXEEZ

714| 20200803 | XISiAlE| EA2E= oMol N 2wk 20,000 |HIXEZEAZ 54CMS
715| 20200603 | KISiAIE| ZRA2Z | QI2HCHY| N N (e 50,000 |HIXEEZ S4CMS
716| 20200603 | KIZAIS] 323 Hel N B owx 10,000 HXE=Z S48CMS
717| 20200603 | XICiAlS 222 = pILel N Lxx 10,000 |HIXIEEZ E4CMS
718| 20200803 | XISiAlE| 222 = ool N 2k 50,000 |HIXESZ S4CMS
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719 20200604 | KIZAIS] 323 Hel N Ol** 20,000 HXE=AZ2

720| 20200605 | XI2iAlS E22= oMol N N 0] % 10,000 |HIXIEE=2

721| 20200605 | XISiAlE| E2A2= oMol N N Shex 3,000 |HIXNEEAZ

722| 20200605 | XICiAIS 22 = oMol N N Shex 3,000 |HIXEEA2

723 20200608 | KIZAIS] 323 Hel N N Sl 10,000 XSRS

724| 20200608 | KIHAIE| E2A2E | QIZHCH| N N wx 30,000 |HINEZEAZ 54CMS
725| 20200608 | XICiAIS| E22= pIxel N 0l % 30,000 |HIXNEEZ S4CMS
726| 20200608 | XISiAIE 22 = ool N T wx 30,000 |HINEEAZ 54CMS
727| 20200609 | XICiAtE 222 = oMol N N Thxx 5000 |HIXEEA2

728| 20200609 | KIZAIS] =323 Hel N O #* 10,000 HXEZ2Z

729| 20200610 | XICiAIS| EA2= oMol N N Pk 10,000 |HIXIEEZ

730]| 20200611 | KIZAIS] =323 Hel N N Elg 30,000 HIXEZ=RZ

731| 20200612 | XICiAlE| 222 = oMol N N 2wk 10,000 |HIXE=22

732| 20200612 | X2 AIE| SR2=E ool N I 20,000 |HIXEEAZ S4CMS
733| 20200612 | KIHAIE| E2A2E | QI2HCH| N N =1 20,000 |HIXEEAZ 54CMS
734| 20200612 | XISiAIE| 22 = el N Dk 50,000 |HIXEEZ S4CMS
735| 20200612 | KIZAIS] EJ323 Hel N Of ** 20,000 HXE=Z S48CMS
736| 20200612 | KIHAIE| ZRA2E | QIZHEH| N N e 50,000 |HINZEAZ E4CMS
737] 20200612 | KIZAIS] 323 Ol 2-CHR| N N Tk 50,000 HXE=AZ2 S48CMS
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738| 20200612 | KIZAIS EJ323 Jpel N Lk 20,000 HXE=AZ2

739| 20200612 | XICiAlS 222 = oMol N Sxx 10,000 |HIXIEE=2

740( 20200612 | AIZAIS] S22 Hel N L 10,000 HXNESRZ

741| 20200612 | XICiAIE| 22 = oMol N 2wk 10,000 |HIXES=22 =
742 20200612 | KIZAIS] 323 JH el N L 10,000 XSRS =2
743| 20200612 | XICiAlE| S22 oMol N 2wk 10,000 |HIXES22 =
744| 20200612 | KIZGAIS 23 Hel N Al 10,000 HXNEEAZ =2
745| 20200612 | KIZAIS] 323 JH el N P *x 20,000 HXE=JZ2 k=1
746| 20200612 | KIZGAIS 23 JH el N Of** 30,000 HXNEZEAZ k=3
747] 20200612 | KIZAIS] 323 JH el N L 100,000 HXEZ2Z

748| 20200612 | XI2iAlS| 22 = oMol N 2xx 50,000 |HIXIEEAZ

749| 20200612 | KIZAIS] 323 JH el N Alxx 20,000 HIXEZ=RZ

750| 20200615 | XISiAlS| S22 = oMol N 2wk 10,000 |HIXE=22

751] 20200617 | KIZAIS] S22 JH el N Of** 10,000 HXNESAZ

752| 20200617 | KICiAlE 222 = oMol N N | xx 20,000 |HIXEEAZ

753| 20200617 | AIZAlS] S3A33 JHel N N Axk 10,000 HXEZ2Z

754 20200617 | KIZAIS] EJ323 Hel N N Sk 10,000 HXE=Z

755| 20200617 | XICiAlS E22= oMol N N = 20,000 |HIXNEEAZ

756| 20200617 | KIZAIS] 323 el N N Gk 10,000 HIXE=&
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757] 20200617 | KIS AIS] 323 Ol 2-CHR| N N Skx 50,000 HXE=AZ2
758| 20200617 | XICiAlS 222 = oMol N 2wk 20,000 |HIXEEAZ
759( 20200618 | AIZAlS] S22 Hel N N Klwx 5,000 HXNESRZ
760| 20200618 | XICiAlS E2A2= oMol N N T xx 5000 |HIXEEA2
761] 20200618 | KIZAIS] 23 JH el N N L 10,000 XSRS
762| 20200618 | XICiAlS| E2A2= oMol N N Ok 20,000 |HINEEAZ
763| 20200619 | KIZAIS] S22 Hel N N L 5,000 HAEZAZ
764 20200622 | KIZAIS =323 JH el N N Bl 10,000 HXE=JZ2
765| 20200622 | KIZGAIS S22 JH el N N L 50,000 HXNEZEAZ
766| 20200622 | KIZAIS 323 Hel N N E|xx 30,000 HXEZ2Z
767| 20200622 | XICiAlE 22 = oMol N N B xx 30,000 |HINEEAZ
768| 20200622 | KIZAIS] 323 JH el N N L rx 30,000 HIXEZ=RZ
769| 20200622 | XISiAlE| S22 oMol N N Ak 10,000 |HIXIEEAZ
770] 20200622 | KIZAIS] S22 JH el N N L 10,000 HXNESAZ
771| 20200622 | XI2iAlE EA2E oMol N N 2wk 10,000 |HIXES=2
772| 20200622 | AIZAS] S3A33 JHel N N Lrx 30,000 HXEZ2Z
773| 20200622 | KIZAIS] EJ3A23 Hel N N Ml 30,000 HXE=Z
774| 20200622 | XICiAlS 222 = oMol N N K 20,000 |HIXNEEAZ
775| 20200622 | KIZAIS 323 el N N Ol** 10,000 HIXE=&

Atz = X & Q1B Ol A CF 41/91




No.| oigy sAza58 sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l S2%} LH = EZEEY HID
776| 20200622 | KIZAIS 323 Jpel N N Hxx 10,000 HXE=AZ2

777| 20200622 | XI2iAlE 222 = oMol N N 2wk 10,000 |HIXES2

778| 20200622 | XI2iAlE| EA2E oMol N N Exx 10,000 |HIXEE2

779| 20200622 | XI2iAlE 22 = oMol N N 0] % 10,000 |HIXIEEZ

780| 20200622 | KIZAIS =323 Hel N N Qbwx 10,000 XSRS

781| 20200622 | XI2iAlE 22 = oMol N N 0] % 5000 |HIXEEA2

782| 20200622 | XICiAIE 22 = oMol N N o wx 10,000 |HIXES2

783| 20200622 | XI2iAlE 22 = ool N N 2wk 10,000 |HIXIEEAZ

784| 20200622 | XI2iAlS 222 = oMol N N | xx 10,000 |HIXIEE22

785| 20200623 | KIZAIS] 323 Hel N N Thxx 10,000 HXEZ2Z

786| 20200624 | XICiAIE ERA2E oMol N M xx 10,000 |HIXIEEZ S4CMS
787] 20200624 | KIZAIS 323 Hel N Sl 30,000 HIXEZ=RZ S48CMS
788| 20200624 | XICiAlE| S22 = oMol N 2wk 20,000 |HIXEZ=AZ 54CMS
789| 20200625 | X2 AlE| S R2 = oMol N N 0l % 30,000 |HIXEEZ

790| 20200625 | XICiAlE| EA2E oMol N N Shax 150,000 |HIXIHE2A2

791| 20200625 | XISiAlE| 22 = oMol N N 2xx 60,000 |HIXEEZ

792| 20200625 | KIZAIS] 323 JH el N N Olx 10,000 HXE=Z

793| 20200625 | XICiAlE 222 = oMol N N Ol xx 5000 |HIXN®EAZ

794| 20200625 | KIZAIS] =323 el N =2 10,000 HXE=AZ2

Atz = X & Q1B Ol A CF 42/91




No.| oigy sAza58 sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l S2%} LH = EZEEY HID
795| 20200625 | KIZAIS] 323 Jpel N N L rx 5,000 HXE=AZ2

796| 20200625 | XICiAlS 222 = oMol N Alwx 10,000 |HIXES2

797| 20200625 | XI2iAlE 222 = oMol N Blxx 20,000 |HINEEAZ

798| 20200626 | XICiAlE EA2E= oMol N N Fwx 10,000 |HIXES=22

799| 20200626 | KIZAIS] 23 JH el N N Hxx 20,000 XSRS

800| 20200626 | XI2iAlE| EA2= oMol N 2wk 10,000 |HIXES22

801| 20200626 | XI2iAtE 222 = pIxel N N CI 10,000 |HIXI=EEZ

802| 20200628 | KIHAIE| E2A2E | QIZHCH| S 100,000 | HIXIHE22

803| 20200629 | XI2iAtE 222 = el N N CI 50,000 |HIXEEZ

804| 20200629 | KIZAlIS] 323 Hel N N Kl 50,000 HXEZ2Z

805| 20200629 | XI2iAlE| 22 = oMol N N 0] % 10,000 |HIXIEEZ

806| 20200629 | KIZAIS] =323 JH el N N xx 10,000 HIXEZ=RZ

807| 20200629 | XI2iAlE| EA2E= oMol N Blxx 10,000 |HIXE=22 54CMS
808| 20200629 | X2 AlE| SR2= oMol N | xx 10,000 |HIXIEE2 S4CMS
809| 20200629 | XISiAlE| EA2E oMol N £ x 10,000 |HIXIEEAZ 54CMS
810| 20200629 | XISiAlE| EA2E oMol N 2xx 20,000 |HIXEEAZ S4CMS
811] 20200629 | KIZAlS EJ3A2Z JH el N Alxx 10,000 HXE=Z S48CMS
812| 20200629 | XICiAlE 222 = oMol N 0l %+ 20,000 |HIXNEEAZ E4CMS
813]| 20200629 | KIZAIS] =323 el N (Sha 20,000 HXE=AZ2 S48CMS
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814| 20200629 | KIZAIS] 323 Ol 2-CHR| N N R 50,000 HXE=AZ2

815| 20200629 | XICiAlS 222 = oMol N 2wk 50,000 |HINZEAZ

816[ 20200629 | A= AlS =323 ol 2HCHR| N N Ob* 100,000 HXNESRZ

817| 20200629 | XI2iAlE| 22 = oMol N £ x 20,000 |HIXEEAZ =
818| 20200629 | KIZAlIS] EJA23 ol 2HCHR| N N Tk 10,000 XSRS =2
819| 20200629 | XICiAlE| EA2= oMol N N M 50,000 |HIXEEAZ =
820| 20200629 | KIZAlS] ]33 Hel N U x 50,000 HXNEEAZ =2
821| 20200629 | KIS AIS =22 Ol 2K N N Tk 50,000 HXE=JZ2 k=1
822| 20200629 | KIZAIS S22 Hel N (** 50,000 HXNEZEAZ k=3
823| 20200629 | KIZAIS] =323 Ol 2HEHK N N S r* 50,000 HXEZ2Z =2
824| 20200629 | XICiAlE| ERA2= pIxel N &1 % 20,000 |HIXEEAZ =
825| 20200629 | KIZAIS] =323 Hel N Lxx 20,000 HIXEZ=RZ =2
826| 20200629 | XISiAlE| EA2E oMol N = 20,000 |HIXEEAZ =
827]| 20200629 | NIZAlIS =23 JH el N L *x 20,000 HXNESAZ =
828| 20200629 | XISiAlE| EA2E oMol N Bhxx 20,000 |HIXEEAZ =
829( 20200629 | XAIZ At E3A33 JHel N Howx 20,000 HXEZ2Z =)
830| 20200630 | KIZAIS] EJA2Z Hel N N Hxx 20,000 HXE=Z

831| 20200630 | XICiAlE 222 = oMol N N 2wk 20,000 |HINEEAZ

832| 20200630 | KIZAIS] EJ32Z el N | xx 20,000 HIXE=&
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833| 20200630 | KIZAIS] =323 Hel N N | xx 20,000 HXE=AZ2
834| 20200630 | K€ AIS S22 Hel N N A xx 20,000 HXNEZEAS
835( 20200630 | AIEAlS S22 Hel N N O #* 30,000 HXNESRZ
836| 20200630 | XICiAlE EA2= oMol N N 2wk 20,000 |HIXEEAZ
837| 20200630 | KIZAIS] =23 JH el N N Alxx 30,000 XSRS
838| 20200630 | KIZAlS =23 JHel N N Al 10,000 HXNEZAS
839| 20200630 | KIZAIS] S22 Hel N Of** 100,000 HAEZAZ
840( 20200630 | KIS AIS =A22 JH el N N Thex 5,000 HXE=JZ2
841]| 20200630 | KIZAIS] 323 JH el N Olxx 20,000 HXNEZEAZ
842| 20200630 | KIZAIS] =23 JH el N N Olx 30,000 HXEZ2Z
843| 20200630 | K€ AlS =23 Hel N N Lf*x 30,000 HIXNEZAS
844| 20200630 | KIZAIS] 323 Hel N N ENE 20,000 HIXEZ=RZ
845| 20200630 | KIZAIS =323 JH el N 2L 36,000 HXNEZEAS
846| 20200630 | KIZAIS] EJA23 JH el N N Shxx 30,000 HXNESAZ
847| 20200701 | XISiAlE| EA2E= oMol N N 2wk 10,000 |HIXES=2
848| 20200701 | AIZAlS EA33 JHel N N Elg 10,000 HXEZ2Z
849| 20200701 | KIZAIS] =323 JH el N N I kx 5,000 HXE=Z
850 20200701 | KIEAlS S22 Hel N N & wx 10,000 HXNEZ=EAS
851| 20200701 | KIZAIS] =323 el N N P Hx 30,000 HIXE=&
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852| 20200701 | KIZAIS 323 Hel N Tk 30,000 HXE=AZ2 S48CMS
853| 20200701 | XICiAlS 22 = oMol N Fwx 10,000 |HIXES2 E4CMS
854| 20200701 | XISiAIE| EA2E oMol N Shxx 20,000 |HINEEAZ S4CMS
855| 20200701 | XICiAlS| S22 = oMol N 2wk 50,000 |HIXZEAZ 54CMS
856| 20200701 | KIZAIS] S22 JH el N L 10,000 XSRS S48CMS
857| 20200702 | XICiAlE| EA2= oMol N Blax 50,000 |HIXEEAZ 54CMS
858| 20200702 | XICiAlS| ER2= pIxel N Lxx 10,000 |HIXI=EEZ S4CMS
859| 20200702 | XISiAlE EA2E pIEel N T wx 10,000 |HIX=EE2 54CMS
860| 20200702 | KIHAIE| ZERA2Z | QIZHCH| N N (e 50,000 |HIXEEZ S4CMS
861| 20200702 | KIZAIS] 323 JHel N L *x 50,000 HXEZ2Z S4CMS
862| 20200703 | XICiAlE 22 = oMol N N Hax 30,000 |HIXEEAZ

863| 20200703 | KIZAIS] =323 JH el N L rx 20,000 HIXEZ=RZ S48CMS
864| 20200706 | XISiAIE| S22 = oMol N N CI 10,000 |HIXIEEAZ

865| 20200706 | X2 AlE| SRI2= oMol N N 0l % 10,000 |HIXIEE2

866| 20200706 | XISiAIE| S22 = oMol N N Shex 3,000 |HIXEEA2

867| 20200706 | XISiAIE| EA2= oMol N N Shax 3,000 |HIXEEA2

868| 20200708 | KIZAIS] EJA2Z Hel N B owx 30,000 HXE=Z S48CMS
869| 20200708 | XICiAlE| E22= pILel N 0] % 30,000 |HIXEEAZ E4CMS
870| 20200708 | KIHAIE| SRA2Z | DIZHCH| N N xx 30,000 |HIXEEZ S4CMS
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871| 20200710 | KIZAIS] =323 Hel N N Pk 10,000 HXE=AZ2

872| 20200713 | XICiAlE 222 = oMol N N CI 30,000 |HIXEEAZ

873| 20200713 | XI2iAlE| EA2E oMol N 2wk 50,000 | HINZERAZ S4CMS
874| 20200713 | XICiAlE| 222 oMol N 2wk 100,000 |HIXIHE2A2 54CMS
875| 20200713 | KIZAlIS] =23 Hel N O #* 30,000 XSRS S48CMS
876| 20200713 | XICiAlE| EA2E= oMol N Qe 20,000 |HIXEEAZ 54CMS
877| 20200713 | XI2iAtE 22 = oMol N Slwx 10,000 |HIXES2 S4CMS
878| 20200713 | XISiAlE| 22 = ool N 2wk 10,000 |HIXIEEAZ 54CMS
879| 20200713 | XI2iAtE 222 = oMol N 2k 10,000 |HIXIEE22 S4CMS
880| 20200713 | KIZAlIS] 23 JHel N L *x 10,000 HXEZ2Z S4CMS
881| 20200713 | XICiAlE| 22 = pIxel N 2wk 10,000 |HIXES2 S4CMS
882| 20200713 | KIZAIS] =323 ol 2HCHR| N N SHx 20,000 HIXEZ=RZ S48CMS
883| 20200713 | XICiAlE| EA2E oMol N Dk 50,000 |HIXZEAZ 54CMS
884| 20200713 | X2 AIE| SR2=E ool N 5l % 20,000 |HIXEEAZ S4CMS
885| 20200713 | KIHAIE| ERA2E | QI2HCH| N N Tk 50,000 |HIXEEAZ 54CMS
886| 20200713 | KICHAIE| ZRA2E |  QI2HCHY| N N = 50,000 |HIXEEZ S4CMS
887| 20200713 | KIZAIS] EJA2Z JH el N Alxx 20,000 HXE=Z S48CMS
888| 20200713 | XICiAlS| 222 = pILel N CT 20,000 |HIXNEEAZ E4CMS
889| 20200713 | KIZAIS] EJA2Z el N L rx 20,000 HXE=AZ2 S48CMS
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890| 20200713 | KIZAIS] EJA2Z Hel N Frx 10,000 HXE=AZ2

891| 20200715 | XICiAlS 222 = oMol N 2wk 10,000 |HIXES2

892( 20200717 | AIEAlS S22 Hel N N ESES 20,000 HXNESRZ

893| 20200717 | NIEAlS =23 JHel N N Ik 10,000 HXNEZAS

894| 20200717 | NIZAIS] EJA23 Hel N N Sxx 10,000 XSRS

895| 20200717 | XICiAlE S22 = oMol N N = 20,000 |HIXEEAZ

896| 20200717 | NIZAIS S22 Hel N N Ela 10,000 HAEZAZ

897| 20200717 | NIZAlIS EJ32F pliRedl N Of*x* 10,000 HXE=JZ2

898| 20200717 | NIZAIS EJA23 ol 2-CHA| N N S 50,000 HXNEZEAZ 248CMS
899| 20200717 | NIZAIS] 23 JHel N L 20,000 HXEZ2Z S48CMS
900| 20200720 | XICiAlE| ERA2= oMol N N 2wk 5000 |HIXNEEAZ

901| 20200720 | KIZAIS] =323 JH el N N | x* 10,000 HIXEZ=RZ

902| 20200720 | XISiAlE| EA2E oMol N N 2wk 10,000 |HIXE=22

903| 20200720 | KIZAIS] =323 JH el N N L 10,000 HXNESAZ

904| 20200720 | XISiAlE| EA2E oMol N N Mxx 20,000 |HIXEEAZ

905( 20200720 | A€ Al =333 JHel N N Nl % 30,000 HXEZ2Z

906| 20200720 | KIZAIS =323 Hel N N Hxx 5,000 HXE=Z

907| 20200720 | XICiAtE 222 = oMol N N 0] % 5000 |HIXEEA2

908| 20200720 | KIZAIS] EJ32Z el N N Kl*x 5,000 HIXE=&
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909| 20200720 | KIZAIS] =323 Hel N N O #* 10,000 HXE=AZ2

910| 20200720 | XICiAtE 22 = oMol N N e 10,000 |HIXES2

911| 20200720 | XISiAIE EA2E oMol N N 2k 10,000 |HIXEE2

912| 20200720 | XISiAlE 22 = oMol N N Ok 20,000 |HIXEEAZ

913]| 20200720 | KIZAlIS] =323 JH el N N L 10,000 XSRS

914| 20200720 | XISiAlE E2A2E= oMol N N o wx 10,000 |HIXES22

915| 20200721 | XICiAtE 22 = oMol N N Blwx 10,000 |HIXI=EEZ

916| 20200721 | XICiAlE 22 = ool N N O 10,000 |HIX=EE2

917| 20200721 | XICiAtE 222 = oMol N N 2k 30,000 |HIXEEAZ

918| 20200721 | KIZAIS] 323 JH el N N L 30,000 HXEZ2Z

919| 20200721 | XICiAlE B2 = oMol N N A xx 10,000 |HIXIEEZ

920| 20200721 | KIZAIS] =323 Hel N N ENE 30,000 HIXEZ=RZ

921| 20200721 | XICiAlE| EA2E oMol N N 2wk 50,000 |HIXZEAZ

922| 20200722 | X2 AIE| SRI2E oMol N N T xx 30,000 |HIXEEZ

923| 20200722 | XISiAlE| EA2E oMol N 2wk 20,000 |HIXEZEAZ 54CMS
924 20200722 | XISiAIE| EA2E oMol N I 30,000 |HIXEEZ S4CMS
925| 20200722 | KIZAIS] 323 Hel N A *x 10,000 HXE=Z S48CMS
926| 20200723 | XICiAlE 222 = oMol N N Frax 10,000 |HIXIEEZ

927| 20200725 | KIZAIS] =323 el N N L rx 60,000 HXE=AZ2
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928| 20200726 | KIZAIS 323 Ol 2-CHR| Swx 100,000 HXE=AZ2
929| 20200727 | XICiAlE 222 = oMol N 2wk 10,000 |HIXES2
930[ 20200727 | AIEAlS S3A23 Hel N N Blx* 10,000 HXNESRZ
931| 20200727 | XICiAlE 22 = oMol N e 10,000 |HIXES=22
932| 20200727 | NIZAIS =323 Hel N N O #* 10,000 XSRS
933| 20200727 | XICiAlE EA2= oMol N N 0] % 30,000 |HIXNEEAZ
934| 20200727 | NIZAlS S22 Hel N Al 20,000 HAEZAZ
935| 20200727 | NIZAIS =323 JH el N S 10,000 HXE=JZ2
936| 20200727 | KIZAIS S22 JH el N N U x 5,000 HXNEZEAZ
937| 20200727 | NIZAIS 323 JH el N N Obsx 10,000 HXEZ2Z
938| 20200727 | XICiAlE 22 = oMol N N Pk 20,000 |HINEEAZ
939| 20200727 | NIZAIS] EJ323 JH el N N Shxx 150,000 HIXEZ=RZ
940| 20200727 | XISiAlE| EA2E= oMol N N T wx 10,000 |HIXE=22
941| 20200727 | NIZAIS] =323 JHel N N L *x 5,000 HXNESAZ
942| 20200727 | XIS AIS =323 Ol 2HEER| N N Shrx 30,000 HXNEZAZ
943| 20200728 | AIZ Al S3A33 Hel N N owx 10,000 HXEZ2Z
944| 20200728 | KIZAIS EJ323 Hel N N Kl 50,000 HXE=Z
945| 20200728 | XICiAlS| 222 = oMol N N Blax 50,000 |HIXESZ
946| 20200729 | KIZAIS =323 el N Ol** 20,000 HIXE=&
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947| 20200729 | KIZAIS] =323 Hel N xx 20,000 HXE=AZ2
948| 20200729 | XICiAlE 222 = oMol N &1 % 20,000 |HIXEEAZ
949( 20200729 | A€ AlS =323 pjigel N Ol** 20,000 HXNESRZ
950| 20200729 | KIHAIE| ZRA2E | QIZHCH| N N = 50,000 |HIXZEAZ
951| 20200729 | KIZAlIS =323 Hel N (** 50,000 XSRS
952| 20200729 | KIHAIE| ERA2E | QIZHCH| N N = 50,000 |HIXEEAZ
953| 20200729 | KIZAlS 323 Hel N U x 50,000 HAEZAZ
954( 20200729 | KIS AIS =322 Ol 2-CHA| N N T 10,000 HXE=JZ2
955| 20200729 | KIZAlS 323 Hel N L *x 50,000 HXNEZEAZ
956| 20200729 | KIZAIS] 323 Ol 2HEHK N N Obsx 100,000 HXEZ2Z
957| 20200729 | XI2iAlE 22 = pIxel N £ x 20,000 |HIXEEAZ
958| 20200729 | KIZAIS] =323 Hel N owx 20,000 HIXEZ=RZ
959| 20200729 | KIHAIE| E2A2E | QIZHCH N N K% 50,000 |HIXEEAZ
960| 20200729 | KIZAIS] S22 JHel N Tk 30,000 HXNESAZ
961| 20200729 | XISiAlE| 22 = oMol N 2wk 20,000 |HIXEZEAZ
962| 20200729 | A€ Al S3A33 JHel N =2 20,000 HXEZ2Z
963| 20200729 | KIZAIS] EJ323 Hel N BN 10,000 HXE=Z
964| 20200729 | XICiAlE 222 = oMol N | xx 10,000 |HIXIEEZ
965| 20200729 | KIZAIS 323 el N L rx 50,000 HIXE=&
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No.| oigy sAza58 sAxPE E%‘mxgl% j'%ifi“ S2%} LH = EZEEY

966| 20200729 | KIZAIS EJ3A23 Jpel N Lk 20,000 HXE=AZ2

967| 20200729 | XI2iAlE 222 = oMol N Slwx 10,000 |HIXES2

968| 20200729 | AIZAlS =323 Hel N =R 20,000 HXNESRZ

969| 20200729 | XICiAlE| 22 = oMol N 0l %+ 20,000 |HIXEEAZ

970| 20200729 | KIZAlIS =323 JH el N Alxx 10,000 XSRS

971| 20200730 | XICiAlE| EA2= oMol N N Thex 5000 |HIXEEA2

972| 20200730 | K€ AIS =323 Hel N N ESER 20,000 HAEZAZ

973| 20200730 | KIS AIS =22 JH el N N Axx 20,000 HXE=JZ2

974| 20200730 | K€ AIS =323 JH el N ESEY 20,000 HXNEZEAZ

975| 20200730 | KIZAIS] =323 JH el N L 10,000 HXEZ2Z S48CMS
976| 20200730 | XICiAlE| S22 = oMol N T wx 10,000 |HIXES2 E4CMS
977| 20200731 | KIZAIS] =323 JH el N N Olx 30,000 HIXEZ=RZ

978| 20200731 | XNIEAlS =323 JH el N N Lfx 30,000 HXNEZEAS

979| 20200731 | KNIZAIS] =23 JH el N N ESE 20,000 HXNESAZ

980| 20200731 | XICiAlE| EA2E oMol N N T wx 20,000 |HIXEZEAZ

981( 20200731 | AIZ Al SA33 JHel N N Al 30,000 HXEZ2Z

982| 20200731 | KNIZAIS] 323 Hel N N O #* 30,000 HXE=Z

983| 20200731 | XICiAlS 222 = oMol N N 2wk 20,000 |HINEEAZ

984| 20200731 | KIZAIS] =323 el N N Shxx 30,000 HIXE=&

Atz = X & Q1B Ol A CF 52/91




No.| ol sA2E2 = Eé‘mxgl% 7|$01€.‘$E*i1l SR Ly < =Ll OZEHRY HID
985| 20200731 | X2 AlE| E22= Hel N N 2e 20.000 |HIXIEEaA2

986| 20200731 | XI2iAlE 2oz JHel N 0] #+ 100,000 | HINEE2Z

987| 20200731 | XIciAlS] sia= Hel N N Alx 10,000 | BIXIRE=2Z

988| 20200803 | XIciAlS| o= Hel N N 2xx 10,000 | HIXIRE2=

989| 20200803 | XIciAlS| sin= He! N N Bhax 10,000 | BIXIHEZ

990| 20200803 | XIciAl| o= Hel N I 50,000 | HIXESA2 5 HC0MS
991| 20200803 | K| Al 222 | 02T N N (s 50,000 | HIXIESa2 S HC0MS
992| 20200803 | XIciAlE| s2in= ol N B xx 10,000 | BHIXIE=2Z S 4C0MS
993| 20200803 | XIciAlE 2in= el N N e 5000 |HIXE=22

994| 20200803 | XIciAlE| soio= Hel N N T 10,000 | BIXIHE=2Z

995| 20200803 | XIciAlE o= JHel N N Qi 30,000 |HIXIE=a2

996| 20200803 | XIciAlS| soin= Hel N N M 30,000 |HIXEEa2

997| 20200803 | XIciAlE| o= Hel N La 10,000 |HIXEE22 S HC0MS
998| 20200803 | XIciAIE o= JHel N Bhax 50,000 |HIXIEEa2 S HCMS
999| 20200805 | XIciAlS| s2in= Hel N N Sha 3.000 |HIXESaA2

‘80 20200805 | XICiAlS] E212= el N N Shex 3.000 |HXmE=22

1?0 20200805 | XI2IAIE] B22= Mol N 2wk 20.000 |HIXNE=Z S4CMS
‘80 20200805 | XICiAIS] B2 Mol N N 0] # 10,000 |HIx=s2=

180 20200806 | XAt B2 = ol N N Bhax 10,000 |HIx=sa2
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No.| oigy SAZER sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l SR LH =X EENRY HID
1901 20200807 | TIoiAtEl 2RI2E | Sl2rE N N o 30,000 |HIXZS2Z S5CMS
1201 20200807 | I M3l 228 Hol N Ol 30,000 |HIXz=AZ SHCMS
1201 20200807 | X2 AtEl 2RI2E Hel N <P 30,000 |HIXZSAZ & 4CMS
1901 20200810 | TI2t M3l 22128 JHol N N Sk 10,000 |HIXIZ=R=

1901 20200811 | T M3l 2R2E JHol N N Bhix 30,000 |HIXZsAZ

1901 20200812 | K12t MEl 228 JHol N = 50,000 |HIXZEAZ S5CMS
101 20200812 | 11 M3l 22128 JHol N =1 100,000 | HIXNIEEH2 SHCMS
101 20200812 | TIoiAtel 2228 ool N Ol 30,000 |HIXZS2Z S4CMS
191 20200812 | 11t Mal 2128 ol N Al 10,000 |HIXIZER= 54CMS
101 20200812 | TIoAtel 2228 Hol N =1 10,000 |HIXNZEAZ SHCMS
101 20200812 | K12t MEl 22128 JHol N =1 10,000 |HIX=EAZ S5CMS
101 20200812 | T2 Atel 2128 JHol N 2k 10,000 |HIXIZ=R= &4CMS
101 20200812 | TI2Mal 22128 JHol N =1 10,000 |HIXXEAZ S5CMS
101 20200812 | T MEl 22128 JHol N S 10,000 |HINESA 545CMS
1ol 20200812 | X1t MEl 22128 JHol N =1 20,000 |HINHSAZ S5CMS
191 20200812 | 11 M3l 2228 Hel N S 20,000 | HIXIZERZ S4CMS
192 20200812 | X1 MEl 22128 Hol N Al 20,000 |HIXEEAZ SHCMS
192 20200812 | I MEl 2228 | o2t N N = 50,000 |HIXz=AZ S4CMS
192] 20200812 | T MEl 2RBE | ol2te N N e 50,000 |HIXZ=2Z 54CMS
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No.| oigy SAZER sAxPE E%‘mxgl% j'%ifi“ SR e =X EENRY

192 20200812 | IoAtEl 2R2E ol N 5 20,000 |HIXNESA SHCMS
192] 20200812 | 11 MEl 22128 JHol N S 50,000 |HIXESAAZ SHCMS
192 20200812 |TIotAIEl 2R2S | S1E N N Sk 20,000 |HIXZSAZ =
1921 20200818 | I MEl 22128 JHol N =1 10,000 |HIX=EAZ

102] 20200818 | 11 M3l 2R2E Hol N N Obxx 20,000 |HIXZEAZ

192 20200818 | X1t MEl 2228 Hol N Ol 10,000 |HIXIZERZ

192] 20200818 | T MEl 2228 JHol N N e 10,000 |HIXN=EAZ

193 20200818 | XIoiAtel 2R2E Jhe! N N S 10,000 |HIXIZ=22

199 20200818 | 11 MEl 22128 Hol N N =1 10,000 |HIXIZER=

198 20200818 | 11 M3l 2R2E JHol N N E - 20,000 |HIXN==AAZ

193 20200818 | X1t MEl 228 JHol N N X 5000 |HIXNES2Z

198 20200818 | 11 M3l 2R2E JHol N N S 10,000 |HX==22

199 20200818 | 112 MEl 22128 JHol N N | 20,000 |HIXZEAZ

123 20200818 | T2 AtEl 2R2E JHol N N <P 5000 |HIXIZERZ

193 20200819 | Tt MEl 22128 JHol N N |+ 50,000 |HIXZEAZ

199 20200819 | T M3l 222E ol N N 2k 5000 |BIXXs22

193 20200820 | X MEl 2RI2E Hol N N =1 10,000 |HIXZEAZ

1941 20200820 | 11 MEl 228 JHol N N T 10,000 |HIXIZ=R=

104 20200820 | TI%iAtEl 2R2E ol N N 0l 5000 |HIX=SS
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194 20200820 | 11 M3l 2R2E Hol N N 0l 10,000 |HX==2A2

194 20200820 | T MEl 228 JHol N N e 10,000 |HIXZEAZ

104 20200820 | T2 AtEl 2128 Hol N N e 10,000 |HIXIZ=R=

194 20200820 | I MEl 22128 JHol N N =1 10,000 |HIX=EAZ

194 20200820 | T M3l 2R2E JHol N N Jup 20,000 |HIXN=SAAZ

104 20200820 | T2t MEl 22128 JHol N N Kl 30,000 |HIXZEAZ

194 20200821 | T MEl 2228 JHol N N =1 30,000 |HINESAZ

194 20200821 | XIoiAtEl 2R2E Jhe! N N =1 50,000 | HIXNIm=a=

199 20200821 | T MEl 2228 JHol N N 2| xx 30,000 |HIXXEAZ

195l 20200821 | TIoiAtel 228 Hol N N =1 30,000 |HIXESAZ

199l 20200821 | Xt MEl 228 JHol N N Ep. 10,000 |HIXIZ=R2

195l 20200821 | TIoiAtEl 2R2E JHol N N 2k 10,000 |HIXIZ=R=

1] 20200821 | T2 M3l 22128 JHol N N b 10,000 |HIXIZER=

195l 20200821 | TIoiAtEl 2R2E Hol N N Sha 10,000 |HINESA

125l 20200821 | X1 MEl 228 Hol N =T 20,000 |HIXZEAZ S8CMS
105 20200821 |11 MEl 2R2E | elate N N - 50,000 | HIXIZE2= 54CMS
199 20200823 | X MEl 2RIZE | Bl2te = 100,000 | HIXIZEZ2

19 20200824 | T MEl 2228 JHol N N =1 60,000 |HIXESAZ

190l 20200824 | T2 Atel 2R2E Jhe! N N Kk 10,000 |HIXIZES
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No.| o&& s == _
6 2020 015 P =2
1 0824 | XX ALS| S22 E el - 0= SAX e =
196 - N - =% DEHE
20| 20200824 |RiiAEl 2RZE| W " il 3 =AES HlD
57| 20200824 | N ALS| 22 B " N o HXEE22
106 =es ol N 20,000 HIX &=L -
4| 20200824 | XIS 2RZE ol o 3 — =208
106 N 0,000 HX &S _
5| 20200825 | XI%ALEl 2RSS ol M xx B3 = HOMS
106 N 10,000 |HIXIEES _
0| 20200825 |RIiMEl 2R2E|  JHol N S 1 msa3 | SMCMS
106 50,000 =0
2°| 20200825 | XIHAEl 2T ” N " HIXEE2A2
106 == el 10,000 =o
061 20200825 | KIciAts] =TS N N o REEEE
106 TCEeo JH ol N 5,000 HXESA2
107 == = 20,000 .
0’| 20200825 | XX AEl AT ” N - HXEE22
107 == el 10,000 =
1] 20200825 | XISAtEl 2RSE o N N ol s HXES22
107 —c= o 5,000 =5
07 20200825 | motnisl R2E| o N N oren BEECE
107 e el N 10,000 o
3’| 20200826 | KIS AlE) 2R2E o N Ol s HIXES22
107 == = 30,000 =o
4’| 20200826 | NI AlS| 2223 ” N o HIXEE22
107 == el 10,000 =o
5'| 20200826 | XAtz SRSE o N N s HXEE22
107 == e 10,000 =
g | 20200826 | XI%iAtel =RBE | QI N N Txx HXESHAZ
971 20200826 | T2t A3l 2RISE ” N N -~ HXEEa
107 e s ol N 30.000 A .
g'| 20200827 | XI%Asl £ SE ol N ™ . B2 5 H0MS
o | 20200827 | I AEl £RA3E " N Ol xx Hug=as
SFoos
ZE|** o T Z o
SIDNRPSESET=, 5 HOMS
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No.| oigy SAZER sAxPE E%‘mxgl% j'%ifi“ SR e =X EENRY

198 20200827 | T2 Atel 2R2E Hol N | xx 10,000 |HX==2A2

198 20200827 | 11 MEl 22128 JHol N =1 20,000 |HIXESAZ

198 20200827 | 11 MEl 2R2E Hol N Al 10,000 |HIXIZ=R=

198 20200827 | TIot M3l 2RI2E Hol N 0l 20,000 |HIXZEAZ =
198 20200827 | 11 M3l 2R2E JHol N hix 20,000 |HIXZEAZ =
198 20200827 | Tt MEl 2R2E JHol N . 20,000 |HIXZEAZ =
198 20200827 | 11 MEl 228 JHol N =1 20,000 |HIXESAZ a
198 20200827 | TIoiAtel 2R2E ool N St 20,000 |HIXIZEAZ =
198 20200827 | T MEl 2R2E ol N P 20,000 |HIXZEAZ =
198 20200827 | T2 Atel 228 Hol N (- 20,000 |HIXZSAZ =
199 20200827 | K1t MEl 228 Hol N 5% 20,000 |HIXZEAZ =
199 20200827 | Wi MEl 2RZE | el2te N N =h. 50,000 |HIXZs2Z =
199 20200827 | MiotmtEl 2REE | 212rE N N = 50,000 |HIXZEAZ =
199 20200827 | T2 Atel 2RI2E Hel N Ol 50,000 | HIXIZE2Z =
1% 20200827 | xIetMEl 2128 JHol N N P 50,000 |HIXZEAZ s
199 20200827 | I MEl 2R2E | el2te N N Sk 10,000 |HINESA =
129 20200827 | X MEl 2RI2E Hol N | xx 20,000 |HIXIES22 =)
199 20200827 | I Mal 2R2E | B2t N N T 50,000 |HIXz=AZ a
199 20200827 | TIoiAtel 2R2E ol N 2k 50,000 | HIXESS =
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No. gl Sa=x= =
e e AL E%‘mxgl% P E=T=S]
— g e SEX

0l 20200827 | RIStAIEl BRBE|  elotE N N 5 == 2EATS

1101 20200828 | X1 Al = h il .

0 XSiAS SRR E Hol N 100,000 | HIXIZ=23

110] 00200828 | It A3l = " o e

110 NENGETEE Sl N - 50.000 | HIX==a=2
5 — M| **

10 20000828 | X MEl 2RDE S0l N 50.000 |HiXZ=a=2

1101 00200828 | It AtSl = h & e

k) NeiAE 22| He N 10,000 | HIAS==S
5 —— Alxx

By 0200831 | KIiAISl 2213%|  JHel N N 10,000 | HIXE==3
2 S S é**

1101 20200831 | xI2t Al = " il -

1?0 XSiAs SRR E el N N 30.000 |HiXz=a=
5 — O] *=

110 20200831 | X1t Al = e e

8 1| MeAE =22 He 20,000 | HIXE==3

T10] 20300831 | 11 mal = N N 2w —

] I |XeAE SRBE| Mol N N 20,000 | BINE=ES
5 — X|**

0 0200831 | X2 AlE] =a1== Jiol 20,000 HAESEZ

T 20200531 | 0ot a1 = N N 2wr —

111 BEENCELES=: ol N 00.000 | HIXE=a=
” — Of*=*

1?1 O A —— - - 20,000 |HXEEAD
’ — 0| **

1?1 0200831 | X AtS] B22S Tl N - 100,000 | BIXmE=
” — Alxx

11 20200831 | xictArel 2REE | JHel N 10,000 | BIANS=#=

1111 20200831 | X1t Al = A i e

. i |meas a2 el N 20,000 | BINERAS

117 20200831 | K1 A3l = A I —

6 1| XAt =333 ol N 5,000 HXE=A=

1 .I 1 2020088 o ~ - N Ll—** — o

7 1| XAt =333 ol N 30,000 HAEZAZ

30,000 |HXESS
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NO. @%% S22 = =
= SABER saxne |2RWIE | ITQEA
— = SRX
g | 20200831 | XISiAtel 2R3 E JHel NT e J e 3 EENZY
111 20200831 | X121 AtS] = e - =
1? 1 | XA 22 E ol N 10,000 BIXEZAZ SA4CMS
12/ 20200831 | TI2AAtE] $RBE s -
o R — o - 10,000 |HIXNIHEAZ 5 H0MS
12| 20200831 | KI%AtEl 2 2
112 SAsl 2ESSE He! N 50,000 | HIXF=ES E4CMS
5 —__ Of** <
1$ 0200831 [XISGAte] 23S ol N 20,000 |HIXX=22 S4CMS
12| 20200831 | M MEl 2R2B R -
3 AAS ZRZE el N N 30,000 |HIXIZE2Z S4CMS
o . X|** <
47| 20200901 | K AtE) 2228 JHol N 20,000 |HIXESA2
112[ 2020090 — N e —
1?2 1| NS S2E p/ijel N N 5,000 HIXNESR2
5 . Hxx
1?2 0200901 | XIZHAIE] SR2E JHol N N 10,000 |HIXEE22
o — Qr*
27| 20200001 | K AIE) ZR2E Mol N 30.000 | HIXIEEa2
T12] 50200901 | K12 A1) = N 2w —
8 1 | NSAE 2R-ZE el N 10,000 |HIXIZz2Z
1121 50000902 | Ki2tAtS] = " o —
9 2 | NAtEl 232 JHol N 10,000 | BIXIRE2=
1131 20200902 | X12At3] = S —
0 P —— o 50,000 |HIXIZEA2 —

113/ 202009 i — N - STES |  =EOW
113 02 |XI%AIS] SABE JHol N 10,000 | HIXIRS2= 540MS
5 — Hoxx -

o°| 20200902 | NIHAtE] 2RZE | I 10,000 |HIXZ=22 =
T 4 N N ™ Hza3 SHCMS
(o] = Se
1? 02 | KIS SABE JHol N 50,000 | HIXIESaA2 540MS
13| 20200908 | T2t A8l 2RIZE = -
113 HNE =ESE el N 50,000 |HIXIZZ&A3 S4CMS
£9] 20200903 | X AtE) =RIZE = -
113 SN2 FESS Jhel N N 20,000 | BIXIZ=ES S4&CMS
5 —__ B oxx* -
8’| 20200007 | K AIE) 2R2E JHol N 30,000 |HIXESA2
N [ s |
O] **
10,000 |HIXHEA2
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No.| olmig sazs saxze 2L |5 RS sa7 Lol 2o oEHR B
T T

“73 20200907 | XAt B2 = Hel N N Shex 3.000 |HX=E=a2

‘é3 20200907 | KICiAtS] E212= Mol N N Shix 3.000 |HIX=EsaA2

1393 20200907 | XIZtAIS| B2 = Hel N N Bhax 10,000 |HIx=s2=

‘54 20200909 | XICiAIE] B2 el N Xk 30,000 |HIXEsa= S4CMS
‘}4 20200909 | XAl B2 = He! N 0l *+ 30,000 |HIXEsa= S4CMS
”24 20200909 | KISIAtS] BR12= |  0I2tEHy N N e 30,000 |HIXN=ESAZ S4CMS
‘;4 20200910 | KICiAtS] E212= Hel N N ek 10,000 |HIx=s2=

1}(‘ 20200911 | KICIAIE] B2 el N N B 30,000 |HIXNE=Z

“54 20200914 | KICiAtS] E212= Mol N N 2wk 10,000 |HIx=s2=2

1234 20200914 | KISIAlE 2R12= Mol N 2hwx 50.000 | HINESZ S4CMS
”74 20200914 | KICiAtE] 2212 Mol N 2k 100,000 |HIXI®=22 S4CMS
1334 20200914 | XICiAlS] E212= Hel N 0l #+ 30,000 |HIXNEsa= S4CMS
154 20200914 | XICiAIE] B2 Mol N Qxx 20,000 |HIXNES2= S4CMS
‘(1)5 20200914 | XICiAtS] E212= Mol N Alx 10,000 |Hix=aaz S5CMS
‘}5 20200914 | XICiAIE] B2 Mol N 21k 10,000 |HIX=Esg= S4CMS
‘;5 20200914 | XICiAtS] E212= el N 2le 10,000 |Hix=aaz S4CMS
1;)5 20200914 | XI2IAIE] B2 Mol N 2wk 10,000 | HIX==2= S4CMS
‘jf’ 20200914 | KICiAtS] E212= Mol N 2wk 10,000 |HIXEsg= S4CMS
1235 20200914 | XI2IAIE] B2 el N Sk 10,000 | HIX==2= S4CMS
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No.| oigy SAZER sAxPE E%‘mxgl% j'%ifi“ SR e =X EENRY
105 20200914 | IS AtEl 2228 Hol N 2k 20,000 |HIXZZAZ
135 20200014 | T MEl 22128 Hol N bk 20,000 |HIXZEAZ
135 20200914 | XIS AtE) 2128 Hol N Al 20,000 |HIXESAZ
18°] 20200014 | T MEl 228 | o2t N N = 50,000 |HIXZEAZ
116] 20200014 | T Mtal 2R2E | o2 N N e 50,000 | HIXNIZ=aZ
110l 20200914 | X1t MEl 22128 JHol N 5% 20,000 |HIXZEAZ
126] 20200914 | T MEl 22128 JHol N S 50,000 |HIXESAZ
110 20200014 |ToiAtel 22E | Si2rEd N N S 20,000 |HIXIZEAZ
116 20200015 | T MEl 22128 JHol N =1 10,000 |HIXIZER=
119 20200017 | ToiAtel 225 |  ol2red N N - 50,000 |HIXIES22
110 20200017 | X1 MEl 2228 Hol N =T 20,000 |HIXZEAZ
118] 20200017 | Wi M3l 2R2E Hol N 0l x 10,000 |HX==22
189] 20200017 | I MEl 22128 JHol N N S 10,000 |HIXIZER=
120 20200917 | T2 Atel 22128 JHol N N - 20,000 |HIXIZERZ
1171 20200917 | Xt MEl 22128 JHol N N Sk 10,000 |HIXIZ=R=
1171 20200017 | T M3l 2228 ol N N e 10,000 |HINESAZ
137 20200017 | MiciArel 22128 Hol N N | xx 20,000 |HIXIES22
1171 20200018 | T M3l 22128 JHol N N Obsx 20,000 |HIXESAZ
117 20200018 | TIoiAtel 2228 ol N N =1 10,000 |HIXZEE
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No.| ¢oigid =9 o=
2ASER saxag |2SIE | JISSEX
17| 20200018 | K% MEl 2R2E ol - o= =dq Lyt S
17| 20200918 | K% MEl 2RSS i
= == Jpel N N 5,000 BIXE=2ES
2'| 20200921 | XI2 A3l =RBE -
= =3 el N N 5000 |HIxz=E22
171 20200821 | Kt Atsl 2RSS e
= N N 000 |HIXIZZRZ
o' 20200021 | X AtEl 2RIz =
g =23 Jpel N N 10,000 HXEZ=JZ3
18| 20200021 | R MEl 2R2E &
= 232 ol N N 50,000 |HIXZEEAS
18] 20200021 | X% ALS) SRS =
— =3 IH el N N 30,000 |HIXIE=A2
18| 20200021 |IiMEl 2R2S x>
N2 2SS Jyel
2 N - 30,000 |HIXIESAAZ2
3| 20200021 | X% ArEl 22122 i
=5 == Jhol N N 20,000 HXE=JZ2
40| 20200021 | X2 ALzl 2R3 M
5 2=35 JHel N N 30,000 HXNEZEAZ
18 20200021 | KIiALEl 2REE Ol -
= 232 ol N N 10,000 |HIXIZE22
6 20200921 | XIZALS| 2= 2 xx
5 N - 0,000 |HIX=EE22
18] 20200921 | X124 ArEl 2RDE &
8 20200921 | XIALS S /2=E e —
9 20200921 | XX AlS =Q2= Dok
o N X 000 |HIXIEER2
5’| 20200921 | X AtEl =RIZE =
19| 20200021 | Kot ALEl BRBE " Ol
3 = pIel N N - 5,000 HXESHAZ
19] 20200021 | I MEl 2R2E Obxx
- ASE JHol N N - 10,000 | HIXEZEZ
3 20200921 | KIS AIE| B2= ESE
AN 2RSS el
! N - 10,000 |HINESYZ
2 xx -
10,000 |HIXIZ=SH
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No.| oigy SAZER sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l SR LH =X EENRY HID
119 20200021 | TIoiAtel 228 Hol N N | xx 30,000 |HIXNESAA

119 20200022 | 112 M3l 22128 JHol N N ek 30,000 |HIXz=AZ

119 20200023 | T2 AtEl 2128 Hol N I 20,000 |HIXZSAZ & 4CMS
139 20200923 | 112t M3l 22128 JHol N S 30,000 |HIXZEAZ S5CMS
189 20200923 | 11 M3l 2R2E JHol N Kl 10,000 |HIXIZ=R= & 4CMS
1191 20200923 | Tt Mal 22128 JHol N N Zwx 10,000 |HIXIZERZ

1201 20200025 | I MEl 222E JHol N N St 150,000 | HIXNIEEH2

120 20200025 | XIoiAtel 2R2E Jhe! N N Ol 30,000 |HIXZS2Z

1201 20200925 | I M3l 2228 Hol N N Obxx 10,000 |HIXIZER=

1201 20200025 | X% AtEl 2R2E JHol N N 2k 60,000 |HIXZ=2Z

1201 20200925 | X1t MEl 228 JHol N N S 50,000 |HIXZ=AZ

120 20200025 | X% AtEl 2R2E JHol N N ST 5000 |HXzs2=

1201 20200925 | T2t MEl 22128 JHol N Swx 10,000 |HIXIZER=

1201 20200925 | I M3l 2228 JHol N Al 20,000 |HIXIZERZ

1201 20200925 | Xt MEl 22128 Hol N N =1 5000 |HINZS2Z

1201 20200925 | I M3l 2R2E Hel N Al 10,000 |HINESA

121 20200925 | XMl 2RIZE | Bl2te N N Bt 30,000 |HIXEEAZ SHCMS
121 20200027 | T MEl 2R2E | ol2te = 100,000 |HIXIZ=R=

121 20200928 | 11 M3l 2R2E Jhe! N N P 20,000 |HIXZEAZ
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121 20200028 | X% Atel 2R2E Hol N 2k 20,000 |HIXZZAZ S5CMS
121 20200928 | 112 MEl 22128 Hol N T 10,000 |HIXIZ=R= SHCMS
121 20200028 | T2 AtEl 2128 Hel N 2|5k 10,000 |HIXIZ=R= & 4CMS
121 20200928 | X1 MEl 22128 JHol N N T oxx 10,000 |HIX=EAZ

121 20200928 | 11 M3l 2R2E JHol N 2k 10,000 |HIXIZ=R=

121l 20200928 | X1t MEl 228 JHol N N S 10,000 |HIXIZERZ

121 20200928 | T MEl 2228 JHol N N Ol 10,000 |HIXIZ=R=

1221 20200028 | XIS ALS) SR2E Jhe! N N ok 10,000 |HINESAZ

1221 20200928 | XIS M3l 2228 Hol N N T 50,000 |HIXZ=AZ

1221 20200928 | NI M3l 2R2E Hol N Al 10,000 |HIXIZ=2= & 4CMS
122 20200928 | X1 MEl 2228 Hol N 0l 20,000 |HIXZEAZ S5CMS
1221 20200028 | NI M3l 2R2E | ol2re N N T 50,000 | HIX==2A2 &4CMS
122] 20200928 | X1 MEl 22128 Hol N =1 50,000 |HINXSAZ S5CMS
122 20200028 | TISAIEl 222S | Sl2E N N Obix 100,000 | HINESAR 545CMS
122 20200928 | Xt MEl 22128 Hol N I 20,000 |HIXZEAZ S5CMS
1221 20200928 | NI MEl 2R2E | ol2re N N Sk 10,000 |HINESA S4CMS
122 20200928 | X MEl 2228 Hol N N P 50,000 |HIXIES22 SHCMS
123 20200928 | 11 MEl 2228 JHol N ST 50,000 |HIXESAZ S4CMS
123 20200028 |TI2iAtEl 2R2E | Sl2rE N N = 50,000 |HIXZ=2Z 54CMS
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NO. @%% S22 = —
— 35 SAX AL E%‘mxgl% PIEEES
— - (0:)= S2X
123 20200928 | KIiAIS] 2122 S0l N = t = =L EEAEY
2 S =0 (»*
3 0200928 | AIGAtel =322 OI2+CHA| N 50,000 HARSAZ
1231 50200928 | X1 Al3| 2 A S —
1;13 XAE Sa2= Shol N 50000 |HIN==a2
o R of **
29| 20200928 | X1 MEl 2R2E ol 00.000 |HIXN=EaZ
123| 00000928 | X1 A3l = h = —
5 8 |XIciAtsl E22= Shol N 00.000 |HINE=aZ =
123 2020092 o — g** — = =
1;8 8 | KNG A=l =33 E Kol N 20,000 HAXEZ=|Z s
o — Of**
29| 20200928 | I MEl 2R2E Jhol N 00000 |HIN==aZ _
123 20200928 | T2t A3l 2 Ler il
124 8 |XIZEAE S22 ol N 20,000 |HINEZAZ =)
o — Sxx
0| 20200928 | XIS 2RSS Jpel N 20,000 |HIXH=2A2 =
124) 50001005 | X1 Al3] & s — -
1 5| XA 2235 Hel 20,000 | BIXd=ES 5
22 0201008 | 11l = N | ox -
5 5 [ XIY¥ALS S/2E Kol 20,000 |HIXEE=22
124 50201005 | X1t Al3] = h A Bl —
3 5 |XICiAtsl E22= Jhol N 30000 |HIN==a2
124] 5020100 — N 2%k -
4 5 | XA 2225 JHol N 20,000 |HIXEE22
1241 50201005 | X1 Al3| & A o —
5 XAE sa2= Mol N 30000 |HINm=aZ
1241 50201005 | K1t AE] = A Ol —
124 ENCELES Mol N N 30,000 |HXNmEaZ
20 Sl S22 i'**
7 201005 |KIYAlS 2238 ol N 20,000 |HIXE=2A2
124 50201005 | X1t Al3l = A S —
8 NN == Mol N 00.000 |HIXNmEaZ
22 201008 | 1o e = N 2 -
9 5| XS Atel SRS Kol N 20,000 HXE=A=
125) 50001005 | Kt AFS] = N elxx —
0 5 | XIGAtsl =333 ol N 30,000 HAEZAZ
N L [ L )
fx*
30,000 |HIXESS
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NO. @%% S22 = —
— 35 SAX AL E%‘mxgl% PIEEES
— & sa%
7] 20201005 | XIHAtsl 23S JHel NT e J e 3 EENZY
1250 20201005 | X1 At = N Ol -
2 5 X% Atel S =5 Kol N 10,000 HXE=A=
125 50001005 | K| A3l = A = —
5 X AIS SRADE Jhel N 30.000 | HIX==a=2
125( 5020100 S— N X xx -
a 5| XAtel s ol 30,000 | HIXE=sa=
1251 50201005 | X1t Al3] = " A B —
5 XA SRRE Mol N 5000 |HX==a=2
1251 20201005 | I A8l = h & -
6 5 | NS Atel ERA23 JHel N 5,000 HX =2
125 50201005 | X1 A3 & A S —
7 NP S = JHol N 10,000 HXNEZ:Z
125[ 5020100 S N g -
125 5| XA =2 JHol N - 10,000 | Bimsa=
o _ x| **
251 20201005 | NI%AISI 2R2Z el N 0.000 |HITZ=22
126 50201005 | X1t Al3] = A S —
0 NeAtsl 2eaE | oje N 10,000 | BIXIZ=2AZ
126[ 2020100 — N Sax -
1 5[ XIGAE SRSE Kol N 3,000 BIXIEEAZ
126 50201005 | K1t Al3] = Ol —
126 ENCECEE Sl N 100.000 | BITIZ=s1=
o = T=x*
126 0201005 | X ALS| 222 o - - 30.000 |HiXZ=a2
o — Of**
136 S R —— - - 20,000 |HIXHEAZ
o R Al xx
26| 20201005 | KIArEl 2RSS S0l 10,000 | Bixmsa=
126] 0001005 | K| A3l = " B —
5 NG CES Hol N 50.000 | HIX==a=2
126 50201005 | X1t Al3l = zr —
1;6 NG == s N 10,000 | Bixmsa=
B — & %%
26| 20201005 | NI%AIEI 2RSE Jhol N 10,000 | BiRms=
126 50001005 | K1t Ar3| = S —
5 5| XAte s ol N 50.000 | HIX==a=2
N =
3.000 |HXEE

Atz = X & Q1B Ol A CF
67/91




No.| oigy SAZER sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l SR LH =X EENRY HID
1271 20201005 | XIS AtS) 2R2E Hol N N Al 10,000 |HIXIZ=2=

1271 20201005 | T M3l 2228 JHol N N =1 10,000 |HIXZEAZ

1271 20201006 | X M3l 2R2E Hel N N Btix 10,000 |HIXIZ=R=

1271 20201007 | T MEl 22128 JHol N =1 20,000 |HIXHSAZ S5CMS
1271 20201007 | NI M3l 2R2E Hel N L 10,000 |HIXIZ=R= & 4CMS
127 20201007 | X1t MEl 2228 JHol N P 10,000 |HIXIZERZ S5CMS
1271 20201007 | WIS MEl 2228 | ol2re N N (x 50,000 |HIXz=AZ SHCMS
1271 20201007 | KIS AtS) 2R2E el N =1 50,000 | HIXNIm=a= S4CMS
1271 20201007 | T MEl 2228 | ol2re N N dx 30,000 |HIXzE=AZ 54CMS
1271 20201007 | XIS AtS) 2R2E Hol N 0l 30,000 |HIXIES22 SHCMS
128 20201007 | X1 MEl 228 JHol N s 30,000 |HIXZEAZ S5CMS
128 20201012 | NI MEl 2R2E JHol N N S 30,000 |HIXN=E=2AZ

128] 20201012 | TIiMEl 2R3 E JHol N N Sk 10,000 |HIXIZER=

128 20201012 | IS AtSl 2RI2E JHol N N =1 10,000 |HINESA

128 20201014 | X1 MEl 22128 JHol N = 50,000 |HIXZEAZ S5CMS
128 20201014 | T MEl 2R2E ol N 2k 100,000 |HIXIZ=22 S4CMS
128 20201014 | X1 MEl 22128 Hol N 0l 30,000 |HIXIES22 SHCMS
128 20201014 | T M3l 2228 JHol N = 20,000 |HIXESAZ S4CMS
128 20201014 | I AtEl 2R2E ol N Al 10,000 |HIXIZ=2= S5CMS
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128 20201014 | IS AtS) 2R2E Hol N 2k 10,000 |HIXIZ=2=

129 20201014 | T MEl 2228 JHol N =1 10,000 |HIXZEAZ

129 20201014 | I AtE) 2228 Hel N =1 10,000 |HIXIZ=R=

129] 20201014 | TIiMEl 2R3 E JHol N =1 10,000 |HIX=EAZ =
129 20201014 | T M3l 2R2E JHol N . 10,000 |HX==2A2 &
129 20201014 | X1t MEl 2228 JHol N =1 20,000 |HINHSAZ =
129 20201014 | T MEl 2228 Hol N bk 20,000 |HIXZEAZ a
129 20201014 | KIS AtSl 2R2E el N Al 20,000 |HIXIZEAZ =
129 20201014 | T MEl 2228 | o2t N N = 50,000 |HIXZ=AZ =
129 20201014 | TI2AIEl 2225 | o12ed N N e 50,000 |HIXZ=2Z

129 20201014 | X1 MEl 2228 Hol N 5% 20,000 |HIXZEAZ

1301 20201014 | T M3l 2R2E JHol N Sk 50,000 |HIXZs2Z

1301 20201014 | T MEl 228 | B2t N N . 20,000 |HIXZEAZ

1301 20201015 | T MEl 2228 Hel N =1 10,000 |HINESA

120 20201019 | Kot MEl 2128 JHol N N P 5000 |HIXNES2Z

1201 20201019 | T MEl 2R2E ol N N £ #x 20,000 | HIXIZERZ

120 20201019 | K1t MEl 2RI2E Hol N N " 5000 |HIXES22

1201 20201019 | T MEl 228 Hol N Ol 10,000 |HIXIZ=R=

130 20201019 | TIoAtEl 2R2E ol N N Obxx 20,000 |HIXESS
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130 20201019 | XIS AtEl 2228 ol N N e 10,000 |HIXIZ=2=

1301 20201019 | T MEl 228 JHol N N S 10,000 |HIXIZ=R=

131 20201019 |ToiAtel 2228 |  oized N N - 50,000 |HIXZ=A= 55CMS
131 20201019 | T MEl 22128 JHol N =T 20,000 |HIXZEAZ S8CMS
131 20201019 | T MEl 2228 Hol N N S 10,000 |HX==2A2

121 20201019 | Tt MEl 2128 JHol N N . 20,000 |HIXZEAZ

1311 20201019 | T MEl 2228 JHol N N =1 5000 |HINES2Z

121 20201019 |XIoiAtel 2228 Jhe! N N =1 10,000 |HINESAZ

1311 20201020 | T MEl 22128 Hol N N =1 10,000 |HIXIZER=

1311 20201020 | XIS AtEl 2R2E Hol N N Al 30,000 |HIXIES22

121 20201020 | K1t MEl 22128 JHol N N P 20,000 |HIXZEAZ

131 20201020 | TS AtEl 228 JHol N N 2k 10,000 |HIXIZ=R=

1821 20201020 | X1 MEl 22128 JHol N N - 10,000 |HIXXEAZ

1321 20201020 | T M3l 2228 JHol N N 2k 10,000 |BIXIZ=2=

152] 20201020 | Wi ArEl 2228 JHol N N - 10,000 |HIXXEAZ

1321 20201020 | T M3l 2R2E ol N N 0l 10,000 |HINESA

192 20201020 | X1 MEl 22128 Hol N N 0l 5000 |HIXES22

1221 20201020 | T M3l 228 JHol N N T 10,000 |HIXIZ=R=

132 20201021 |XISAtEl 2R2E ol N N b 10,000 |HIXIZES
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NO. @%% S22 >= _
5 sazzs | sunce |2oE [ RREA] 4
21 20201021 | WA AIE) 2R2E - o= SAT e — —
TESS p/iJel =" HEANZY
192 2020102 od ALS| = N N QU xx < =[]
8 I | XIAIE] 222 el N 10,000 |HIXIESAZ
132 2020102 (o] = = N j\:,l** ==
9 I [XoiAs 23R Jfel 30,000 |HIXEEA2
1931 2020102 ol pLg| = N N 2wk ce
0 1| NAE =E2E] e 50,000 |HIXZ=2Z
183 20201021 ol Als| = N N E|Hox ==
1 XHAtE 2RSS el N 30,000 |HIXZEAZ
133 2020102 of kLS| = N Maxx ==
2 1| XAE 2225 el N 10,000 |HIXIZZ22
133 20201022 N = N 2 xx ==
3 XHALE SRA2E Jhel N 30,000 |HIXES2=Z
733 20201002 | 112 ol = . 23
1% NEAS =258 Hel N 20,000 |HIXIH=22 S4CMS
2 = =o Hhxx S
5 | 20201022 | IIRANE FESE el 30,000 |HIXZEAS 55
1% 2020102 oI ALS| = N A x* T =dCMS
123 ZANENE Jhel N N 10,000 |HIXNEEAZ = HOMS
2 = =o 7};** o
201 20201023 | K12 AtEl £ 2B ohel N 30,000 |HIXIZS®Z
1331 50201024 | X1 AEl = N Zhkx i
: neingl 223E| el N 10,000 |Hium=aa
183 2020102 o ALS| = N 2 x* ==
9 5 [ NGAE =23 OI2HEH| 60,000 WX RS
134 50201026 ol 15| = Sax =
e Neing 2RBE| el N 100,000 | BINE=23
134 20201026 | K| ALE] & N 0] ** ==
1 [FAS S R2S JHol N 30,000 B E=2D
134 20201026 o . N %** [ungy==1
124 NEAS ]2 JHol N 5.000 BN =2
20 A =
3 201026 | KIGALS =333 JHel N 10,000 A E
134 20201026 | XI€ALE = Alxx =
; [FASl =ESS el N 20,000 |HIXNIZZAZ
134 2020102 o _ — j\:’l** o
5 6 |XSiAE 2R3E p/lfel N 10,000 |HIXIESAZ
N 2 xx ==
5000 |HIXIZEAZ
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— o sax
51 20201026 | WX AIS| 23S Mol - o7 } L= =% OEARY
1341 20001026 | Xt AlEl = " e . =
7 6 | KNG Atel SRS Kol N 10,000 HXE=A=
1341 20001026 | I AlE| 2 A e —
ki NEWEE LTS BT N N 10,000 | BIXZE223
o R Olbxx
g | 20201026 | MK A2l S &A=& ol N 10,000 L
135 50201026 | I AtEl = A . —
125 G = ol N y 20.000 |HIXIZ=a=
o I & **
70| 20201026 | XIiAtS] 2B Mol N 10.000 |HIXE=22
135) 20001026 | X1 Al = A B —
2 |[Z9AS ERAS3 JHol N 150,000 HXNEZAS
T35 20201007 | 102 = . —
125 7 | KNSAtE 2RASE el N N 4,000,000 | X&EAAZ
o — O] **
2| 20201028 | I AIE) 2222 Mol N 10,000 | HIXZ=2=2
135 50201028 | X1 AtEl = " R —
125 |2AIS] S22 ol N N 50.000 |HIXIRS2=2
o . SELS
135 0201028 | XISiAIG| SR2= Mol N 10,000 | HIX=E=22
2 S S22 275'**

1;5 0201028 | KIZAIS| S22= JHol N 10,000 | HIXE==2 = HCMS
o I X ** -
125 0201028 | XI9AtE] SR SS Jyol N 10,000 | HIXES2A2 S4CMS
o . 2 x* =
126 0201028 | KIZAIS| S2A2= JHol N 20.000 |HIXIZ=a= =4CMS
o R Al xx -
1g6 0201028 | KISAIG| S22 = JHol N 10,000 |HINE=2=2 = MCMS
o . Alxx -

70| 20201028 | K% AtS| 2RSS JHol 10,000 |HIXIZE2 —

G p— —— N oo 23 S4CMS
136 8 | KNIGAte 2’25 Jyol N 20,000 HAEZAZ SAHCMS
B — Lk <

5| 20201028 | N AIS| 2222 JHol 20.000 |HIXIZ=2=2 _
136] 20201028 N Sax M SSCMS
4 X AE ER2E ~ 20 -0
= el N —— 000 |HIXNEZRAZ E4CMS
20,000 |HIXIZ=¥= S4CMS
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120l 20201028 | X% AtEl 2R2E ol N Shs 20,000 |HIXNESA

1%6] 20201028 | T MEl 2228 Hol N ek 20,000 |HIXZEAZ

130 20201028 |TIoAIEl 2R2S |  LiE N N T 50,000 |HIXZ=A=

190 20201028 | I MEl 22128 JHol N =1 50,000 |HIXXSAZ =
130 20201028 | T MEl 2R2E | ol2re N N Obi 100,000 |HIXIZ=R2 =
1871 20201028 | X1 MEl 2228 Hol N o 20,000 |HIXZEAZ =
137 20201028 | T MEl 2R2E | ol2re N N S 10,000 |HIXN=EAZ a
1371 20201028 | NI M3l 2R2E el N N P 50,000 |HIXZS2Z =
1371 20201028 | T M3l 2228 ol N ST 50,000 |HIXZ=AZ =
137 20201028 |TI2AIEl 2R2S | Sl2E N N = 50,000 |HIXIES22 =)
127 20201028 | X1t MEl 2228 Hol N [ 20,000 |HIXE=AAZ =
137 20201028 | I AtE) 2R2E JHol N (x 50,000 | HIX==2A2 =
137 20201028 | T MEl 228 | B2t N N =P 50,000 |HINXSAZ =
1371 20201028 | I AtS) 2RI2E Hel N 5 20,000 |HIXIZERZ =
1871 20201029 | X1 MEl 2128 JHol N = 30,000 |HIXZEAZ

138 20201029 | T M3l 2R2E ol N St 20,000 |BIXXS2AZ

138 20201029 | X2 MEl 22128 Hol N =1 50,000 |HIXEEAZ

138 20201030 | 11 MEl 22128 JHol N N pIa- 5000 |HIXNES2=

138 20201030 | X% AtEl 2R2E Jhe! N N 2|5k 20,000 |HIXESS

Atz = X & Q1B Ol A CF 73/91




NO. @%% S22 = —
— SR3ER AR RE E%‘mxgl% IR SEH
— L sax
138 20201030 | XIZALE| SRS E JHel NT 012 F LK< =oH D=
o . X **
128 0201030 | KISiAlE] B212= Sl N 0.000 |HITIZ=212
o . & x*
%8| 20201030 | ItArEl 2R2E Sl N 10000 |HiTm=s=
138] 00001102 | K| AE| = B —
7 KNEA2 2 A3E Kol 10,000 HXEEA2
138 50201102 | KItAlS] = " A o —
128 X AIS SADE Mol N N 30.000 | HIX==a=2
o I Lpxx
38l 20201102 | X AISl BT S Sl 30.000 |HiXE=a2
1391 00001102 | X1 AE| = h A S —
0 NP S = JHol N 10,000 HXNEZ:Z
139] 00201102 | X1 AE| & A S —
1;9 X HAIS SDE Jho! N N 5000 |Biuzsaz
o . QO **
391 20201102 | XISl ZRDE el N 30.000 |HITE=a2
139 20201102 | Kt AlSl = A Gl —
3 NeAtsl 2eaE | oje 30,000 | BINERAZ
1391 50201102 | X1 AE| = h A S —
4 KNSAte SASS Kol N 20,000 |HIXEE=22
139 90201102 | KItAlSl = A B —
5 X =AIS SDE ol N 00.000 | HIX==a=2
1391 00001102 | X1 AE| 2 " B —
6 KNEA2 2J33 JHol N 20,000 HXEZ=Z
139) 00001102 | X AlSl = A Ol —
7 |IALE] 2 /2E ol N 30,000 |HIXXEs2Z
1391 00201102 | X1t AE| = h B —
129 NSAte 2RSS Jyol N Xy 30,000 |HIXZE2Z
20 = S i'**
9 201102 [KIYAls 2238 ol N 20,000 |HIXE=2A2
140 50201102 | X1t AlSl = A zr —
0 X AlS] 2= Mol N 10,000 | Bixmsa=
140] 00001102 | X1 AlSl = Ol —
1 |GALS] 2 RA2E ol N 100,000 |HIX&EE=2A2
1401 50001102 | X1t Al3] 2 A o —
2 NS SR=SE ol N 10,000 HXESZKA2
N Bk -
10,000 |HIXIE=S
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130 20201102 | IS Atel 2228 Hel N S 50,000 | HIXIZEAZ S5CMS
170 20201102 | W1 MEl 22128 Hol N L 10,000 |HIXIZ=R= SHCMS
1301 20201102 | IS AtEl 2128 JHol N <P 10,000 |HIXIZ=R= & 4CMS
1801 20201102 | T MEl 22128 JHol N =1 50,000 |HIXXSAZ S5CMS
120 20201102 | W MEl 2RBE | elare N N (xx 50,000 |HIXZ=AZ S45CMS
190 20201103 | It MEl 2228 JHol N N S 50,000 |HIXZEAZ

190 20201104 | T MEl 2RI2E Hol N =1 20,000 |HIXESAZ SHCMS
1311 20201105 | KIoAtel 2228 Jhe! N N ET. 3,000 |HXzsa=

141 20201105 | T Mal 2228 Hol N N Shex 3,000 |HXzsa=

137] 20201105 | RIotMEl 2122 Hol N N 0l 10,000 |HIN==2A2

131 20201106 | K1 MEl 2228 Hol N N S 10,000 |HIXIZ=R2

171 20201100 | Wi Mtal 2R2E | ol2re N N o 30,000 |HIXZsAZ &4CMS
1311 20201109 | I MEl 22128 Hol N Ol 30,000 |HIXZEAZ S5CMS
1411 20201100 | TS AtEl 2128 Hel N o 30,000 | HIXIZERZ 545CMS
191 20201110 | Kot MEl 2128 JHol N N S x 10,000 |HIXIZ=R=

181 20201111 | T MEl 2228 ol N N S 30,000 |BIXX=2AZ

18l 20201112 | Kot MEl 2RI2E Hol N 5% 20,000 |HIXIES22 SHCMS
192 20201112 | T MEl 2228 Hol N N =1 10,000 |HIX=EAZ

142 20201112 |WoiAtEl 2R2E |  olzEd N N Sk 20,000 |HIXZEAZ S5CMS
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122] 20201112 | NI M3l 2R2E Hol N . 50,000 |HIXZ=2Z

132 20201112 | T MEl 2228 Hol N =l 50,000 |HIXz=AZ

172 20201112 | RIS Atel 2228 Hel N =1 100,000 |HIXIZ=R=

132 20201112 | T MEl 22128 Hol N Ol 30,000 |HIXZEAZ =
192 20201112 | W M3l 2R2E JHol N Qe 20,000 |HIXZEAZ &
192 20201112 | It MEl 2228 JHol N Al 10,000 |HIX=EAZ =
192 20201112 | T MEl 2228 JHol N =1 10,000 |HIXN=EAZ a
1921 20201112 | RIS Atel 2228 el N =1 10,000 |HINESAZ =
199 20201112 | W MEl 2228 JHol N =1 10,000 |HIXIZER= =
143 20201112 |ToiAtEl 2REE |  ozEd N N E 50,000 |HIXE=AZ =)
133 20201112 | TIetMEl 2R2E | ez N N = 50,000 |HIXZ=AZ =
133 20201112 | RISAtEl 2228 JHol N Al 20,000 |HIXZSAZ =
179 20201112 | It Mal 22128 JHol N S 20,000 |HIXZEAZ =
133 20201112 | MiSAtel 2RI2E JHol N =1 20,000 |HIXIZERZ =
193 20201112 | X1t MEl 228 JHol N =1 10,000 |HIXXEAZ s
128 20201112 | W MEl 228 JHol N S 10,000 |HINESA 5
193 20201116 | X1 MEl 22128 Hol N =1 10,000 |HIXZEAZ

199 20201117 | Wit Mal 22128 Hol N Ol 10,000 |HIXIZ=R=

194 20201117 | KIS Atel 2228 ol N N | xx 20,000 |HIXESS
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— 35 SAX AL E%‘mxgl% PIEEES
— L sax
[ 20201117 | XIHAtsl 23S JHel NT e J e 3 EENZY
] 0001117 | ol = N K =
) 7 | NEA2 =33 S Kol 10,000 HAXEZ=AZ
1441 00001117 | It AE| = " N T —
3 7 | XNYAE) E22=2 Mol 10,000 | HIXXs22
T4 o117 e ia = N N . -
A AV ENCELE= ol 00.000 | HIXE=a=
144 50201118 | K1t AlB] = " A e —
124 X AIS SADE Mol N N 10000 |HiTm=s=
o I K| **
44 20201118 | NAIEl 223 Sl N 5000 |Hix=m=a=
144 50001118 | It AlSl = A B —
7 KSAAS =322 ol N 10,000 BIXIEZAZ
1241 5000111 S N X %k -
8 8 | NG Als £]22 ol N 5,000 HXES22
144 50001118 | It AlSl = A il —
9 TSNS SRAZE| S N 20,000 |HINZ=ESZ
145] 50001118 | K1t AlB] = A = —
0 XSAIE sa= Mol 50,000 HXXH=2 = x
145 2020111 . — N Shex T e Q_SI S
1% 9 | NSAte =333 ol N N 20,000 |HIXIBE22 SMCMS
20 = S le** -
35 20201120 |XIMEl 2R2E S0l N 5000 |HX==a=2
145] 5020112 — N T -
3 0 [KI¥ALS =22E JHol N 10,000 |HIXEE22
145 50001120 | X AlSl = A Ol —
4 PN t= ol N 10,000 |HIX&EZ2=2
1451 50201120 | K1t AE| = h Ol —
125 ENCECEE Mol N N 5000 |uxz=az
20 Sl S22 £|**
5 201120 [KIYAtS 2238 ol N 10,000 |HIXX==Z
145 50201120 | X1t AlS] = A zr —
7 X =AIS SADE Mol N 10,000 | Bixmsa=
145 50001120 | X1 AE| = A B —
8 NN CEE ol N 10,000 | BiRms=
145) 50001120 | X1 ALE| & A Nl —
9 |2ALE] SRIBE JHol N 30,000 |HIXXE2Z
N N **
20.000 | HIXHE=

Atz = X & Q1B Ol A CF
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No.| olmig sazs saxze 2L |5 RS sa7 Lol 2o oEHR
T T

136 20201120 | XAt B2 = el N N 2wk 10,000 |HIx=saz
‘?6 20201120 | KICiAtS] E212= Mol N N 2k 10,000 |HINE=2=
1‘2*6 20201122 | XIoiAtel 22122 |  o12toH =P 100,000 | HIXIR=2=2
136 20201123 | XICiAtE] E22= el N N Ofxx 10,000 |HIx=s2=
‘jG 20201123 | XI2tAIS] B2 = He! N N Kra 10,000 |HIx=s2=2
126 20201123 | XICiAtE] 22 Mol N N 2wk 30,000 |HIXN=ESAZ
‘gG 20201123 | XICiAtS] 22122 el N N ek 30,000 |HIXEs2=
1‘7*6 20201123 | XI2tAtS] B2 = ol N N 2wk 30,000 |HIXESA2
‘gG 20201123 | XICiAtS] 22122 Mol N N 2wk 50,000 |HIXES2=
136 20201123 | KIS ALE 29122 Mol N N PR 10,000 | HIX==2=
16‘7 20201123 | KICiAtE] 2212 Mol N N I 30,000 |HIXEs2=
1?7 20201123 | XICiAtS] E212= Hel N JEp 10,000 |HIx=sa=2
137 20201123 | XICiAlE] B2 Mol N e 30,000 |HIXEs2=
1§7 20201123 | XI2AIS| B2 = Hel N 2lx 20,000 |HIXEEA2
‘f] 20201124 | XICiAlE] B2 Hel N N 21k 60.000 | HIXN=RS2AZ
1§7 20201125 | XIS AlS] B2I22 |  0I2tEH| N N Sha 30,000 |HIXEE2
1g7 20201125 | XI2IAIE] B2 Mol N N Obsx 10,000 | HIX==2=
‘?7 20201125 | XICiAtS] 22122 Hel N N 2wk 5000 |HIXXRsa=
1g7 20201125 | XI2tAtS] B2 = ol N N 0l %+ 30,000 |HIX=ESH
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No.| oigy SAZER sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l SR LH =X EENRY HID
1971 20201125 | KIS Atel 2R2E Hol N . 10,000 |HX==2A2

198 20201125 | T MEl 228 JHol N Al 20,000 |HIXESAZ

148 20201125 | I Atel 228 Hel N Al 10,000 |HIXIZ=R=

138] 20201125 | TiMal 2R3 E JHol N N Bhax 150,000 | HIXIESH2

138 20201126 | T MEl 2R2E JHol N N S 10,000 |HX==2A2

178 20201126 | X1t MEl 2228 JHol N =1 10,000 |HIX=EAZ

138 20201126 | T MEl 2R2E JHol N N T 10,000 |HIXN=EAZ

198 20201126 | KIoAtel 2R2E Jhe! N N P 20,000 |HIXIZEAZ

128 20201127 | T MEl 22128 JHol N N Ol 10,000 |HIXIZER=

198 20201127 | TIoAtel 2228 Hol N <P 20,000 |HIXESAZ SHCMS
198 20201127 | Tt MEl 228 JHol N =1 20,000 |HIXESAZ S5CMS
199 20201127 | W MEl 2R2E JHol N . 20,000 |HIXZSAZ &4CMS
149 20201127 | W1 Mal 22128 Hol N 0l 20,000 |HIXZEAZ S5CMS
129 20201127 | Wi MEl 2228 JHol N Al 10,000 |BIXIZ=2= S4CMS
130 20201127 | XIetMEl 2128 JHol N =1 20,000 |HINHSAZ S5CMS
129 20201127 | Wi MEl 228 ol N 2| xx 10,000 |BIXIZ=22 S4CMS
189 20201127 | I MEl 2RI2E Hol N | xx 10,000 |HIN==22 SHCMS
199 20201127 | T MEl 228 Hol N St 20,000 |HIXZEAZ S4CMS
129 20201127 | Ko Atel 2R2E Jhe! N = 20,000 |HIXZEAZ S5CMS
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No.| oigy SAZER sAxPE E%‘mxgl% j'%ifi“ SR e =X EENRY

199 20201127 | KIS Atel 2R2E ol N 5 20,000 |HIXNESA

199 20201127 | W Mal 2R2E | ozt N N =P 50,000 |HIXESAAZ

190 20201127 | XIS Atel 228 Hel N (s 50,000 |HIXZ=A=

1901 20201127 | T Mal 228 | ezt N N = 50,000 |HIXZEAZ =
1301 20201127 | Wi MEl 2R2E Hol N Ol 50,000 |HIXZ=AZ =
120 20201127 | Tt MEl 228 JHol N N P 50,000 |HIXZEAZ =
1201 20201127 | TIMal 228 | ez N N S 10,000 |HIXN=EAZ a
120 20201127 | RioAtel 2R2E el N 2|5k 20,000 |HIXIZEAZ =
1201 20201127 | W Mal 2R2E | ozt N N Obxx 100,000 |HIXIZ=R= =
190 20201127 | IS Atel 2R2E Hol N =1 50,000 |HIXE=AZ

20 20201127 | xIetMal 2R2E | B2 N N T 50,000 |HIXZ=AZ

130 20201127 | RIS Atel 2R2E Hol N (- 20,000 |HIXZSAZ

1311 20201130 | It Mal 22128 JHol N N | 20,000 |HIXZEAZ

1211 20201130 | T Mal 22128 JHol N N St 30,000 |BIXX=2Z

151 20201130 | Mot Arel 2228 JHol N N <P 20,000 |HIXZEAZ

1211 20201130 | Wi Mal 22128 ol N N 2k 20,000 |BIXXS2AZ

1ol 20201130 | K1 MEl 22128 Hol N N Al 30,000 |HIXEEAZ

1211 20201130 | T Mal 22128 JHol N N Al 10,000 |HIX=EAZ

1211 20201130 | KIS Atel 2228 Jhe! N N Ol 30,000 |HIXESS
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NO. @%% = 2 = =
b SABER saxne |2RWIE | ITQEA
- o S2%
' 20201130 | XISt AEl 222 Mol - o } L= =% OZEHRY
1511 00001130 | X1 AE| = " o . =
121 0| XIciAe 222 Mol N 20,000 | HINEEZ
20 Sl S22 O|**
122 201130 |KIYAlS S/A2E el N N 100,000 | HIX =22
5 I & **
122 0201130 | KIAIE| SRA2E Mol N 10,000 | HIX=E=22
2 S S —JE'**
1;2 0201130 | X AIS| ER2= ol N N 20,000 |HIX=E=2
B A Lpxx
5] 20201130 | NI ALEl RS E JHol 30,000 | HINE=Z
1521 50201130 | X1 AlS| & h A B —
3 NP S = JHol N 30,000 HXNEZ:Z
152[ 2020113 — N 2wk -
122 0 [XIZAE 23S Mol N 20,000 |HIXZ=AZ
5 . Of**
122 0201130 | KIGALS 222 ol N 20,000 | HIXIHE2 S4CMS
2 = S /lll** -
27| 20201130 | It AlEl 2222 Hol 10,000 | HIX=E=22 =
152 202011 o ALS| = N N Kbk A =4CMS
7 30 | KIGAtS =3 S3 Kol N 5,000 BIXIEEAZ
192] 50201130 | It AlS] = A Rl —
8 |ciAlE] S2= I 50,000 HXE=AZ
52| 20201130 | 1 ] = N =, -
123 N T o N 30,000 |HIX=S22 = 4CMS
o — 2 x* <
123 0201201 | KIAIE| S/A2E Mol N N 50,000 |HIXIZ== =4CMS
o R KNxx -
17 20201201 | XIHALSl £ S S ol N 5,000 HXESAZ
158] 00001201 | X1 AE| = A S —
123 XAtE B2 JHol N N 10,000 |HIXE=22
20 = S 9**
2°| 20201201 | XISl 2RBE Hol N 30,000 | HINE=Z
153 50001201 | X1 Atal = A B —
4 NSAe S R=S Kol N 20,000 HXE=AZ
193| 50001201 | X1t AlB] 2 A s —
5 XSALE SR p1e] N 10,000 |HINH=2=2
N Bk -
10,000 |HIXI==2=2

Atz = X & Q1B Ol A CF
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No.| olmig sazs saxqe |22 | JISSEH sa7 Lol 2o oEHR i)
o= e

123 20201202 | XAt B2 = el N 2wk 50,000 |HIXESa2 S4CMS
153 20201202 |M2AtEl 2RBE | ol2rE N N (s 50,000 |HIXIEEa2 S HC0MS
123 20201202 | XI2tAIS] B2 = Hel N ek 10,000 |HIx=s2= S4CMS
193] 20201202 | KIoiALS) 2RBE Mol N =1 10,000 | HIXIRE2= SHCOMS
‘84 20201202 | XI2tAIS] B2 = Hel N Far 10,000 |HIx=s2=2 S4CMS
“134 20201202 | XICiAtE] B2 Mol N Lk 10,000 |Hx=s2= S4CMS
154 20201202 | KIiALS) 2R2E IHol N Bl 50,000 |HIXIEEa2 S HC0MS
124 20201203 | XAt B2 = ol N 2wk 20,000 |HIXESA2 S 4C0MS
‘24 20201207 | XIciAts) 2im= el N 0]+ 60.000 |HIXIESa2

124 20201207 | XI2iAIE B2 Mol N N S 3.000 |HIX=sa=

184 20201207 | XIctAtS] B2 = JHel N N Shix 3.000 |HIXmE=s22

1?“ 20201207 | XI2tAIS] B2 = He! N N Bhax 10,000 |HIx=sa=2

184 20201207 | XAt B2 = Hel N N 0l %+ 10,000 | HIXIRS2=

184 20201209 | XIS AlSl B2122 |  0I2tEH| N N o 30,000 |HIXES2 S 4C0MS
‘85 20201209 | XICiAIE] B2 Hel N 0] # 30,000 |HIXNEs2= S4CMS
1?5 20201209 | XI2iAIE B2 Ml N ek 30,000 |HIXEsa= S4CMS
125 20201210 | XI2IAIE] B2 Mol N N S, 10,000 | HIX==2=

135 20201210 | KIS ALE 2R12= ol N 0] * 100,000 |HIX®=22

125 20201211 | XI2IAIE] B2 el N N ST 30.000 |HIXNEsZ
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No.| oigy SAZER sAxPE E%‘mxgl% j'%ifi“ SR e =X EENRY
125 20201214 | IS AtE) 2R2E Hol N 5 20,000 |HIXIES22
129 20201214 | T MEl 2228 Hol N N =1 10,000 |HIXZS2
195 20201214 | TISiAIEl 23S | oled N N o 20,000 |HIXESAZ
129 20201214 | WIS MEl 228 Hol N S 50,000 |HIXIZ=22
139 20201214 | T M3l 2R2E Hol N =T 50,000 |HIXESAZ
130l 20201214 | X1t MEl 2228 JHol N =1 100,000 | HIXIZSHZ2
196 20201214 | T MEl 2228 Hol N Ol 30,000 |HIXZ=AZ
136] 20201214 | WIiAtEl 2RBE|  Hel N = 20000 |HINEERZ| =
126 20201214 | T MEl 2R2E | o2t N N e 50,000 |HIXEAZ =
120l 20201214 | T2iAtel 2R2E | oized N N = 50,000 |HIXIES22 =)
120l 20201214 | Tt MEl 228 JHol N Al 20,000 |HIXESAZ =
120 20201214 | T2 AtE) 2R2E Hol N S 20,000 |HINE=AAZ =
196 20201214 | I MEl 22128 JHol N =1 20,000 |HIXNHSAZ =
120 20201214 | IS AtEl 228 JHol N S 10,000 |HINESA =
130l 20201214 | Kot MEl 2128 JHol N =1 10,000 |HIXXEAZ s
1371 20201214 | NI MEl 2R2E Hol N =1 10,000 |HX=R=22 =
157 20201214 | I MEl 22128 Hol N =1 10,000 |HIXZEAZ =)
157 20201214 | T MEl 2228 Hol N =1 10,000 |HIXZS2 =
137 20201214 | RIS Atel 2R2E ol N Al 10,000 |HIXZEE 5
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No.| olmig sazs saxqe |22 | JISSEH sa7 Lol 2o oEHR
e o

127 20201215 | KIIALS] 22|  QI2HEHy N N (e 600,000 | HIX RS2
127 20201217 | KISiALE 2R12= Mol N N ST 100,000 |HIX®=22
127 20201217 | XI2iAIE B2 Hel N N £k 20.000 |HIXNEs=
“737 20201217 | KICiAIE 29122 Mol N N E 10,000 |HIX=ES2=
137 20201217 | XI2iAIS B2 Mol N N Sk 10,000 | HIX=S2=
‘87 20201217 | XICiAtEl B2 Mol N N = x 20,000 |HIXEs2=
‘88 20201217 | KICiAtS] 22122 el N N e 10,000 |HIx=s2=
1158 20201217 | XI2tAtS] B2 = el N 0l %+ 10,000 |HIx=saz
128 20201217 | XICiAtS] 22122 Ml N 2wk 10,000 |HIx=s2=2
128 20201217 | XI2iAIE 222 Hel N 2hwx 20.000 |HIXNEsZ S4CMS
128 20201217 | KI2iAtSl BR12=2 |  oI2teHy N N Sk 50,000 |HIXES2= S4CMS
128 20201218 | XI2tAIS| B2 = JHel N N Obxx 20,000 |HIXESa=
188 20201218 | XI2iAIE] B2 Mol N N K 5000 |HIX=Es2A2
1§8 20201218 | XI2AIS| B2 = Mol N N T a 5000 |HIXE=22
128 20201218 | XICiAlE] B22= Mol N N 21k 10,000 |HIX=Esg=
‘88 20201221 | KICiAtS] E212= el N N 2wk 10,000 |Hix=aaz
189 20201221 | XI2IAIE B2 Mol N N 2wk 50.000 | HINE=Z
‘?9 20201221 | KICiAtS] E212= Mol N N 2wk 30,000 |HIXNE==
“39 20201221 | XI2tALS] B2 = ol N N Hlxx 30,000 |HIX=ESH
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NO @%% == = —
- SR3ER AR RE Eé‘mxgl% IR SEH Z
37| 20201221 | WAAIE) 2228 = o= <l L = =
TESS p/iJel =" HEANZY
759 popo1001 | ot Nie = N N i = dlL
2 1 | KAt s22= Sl N 20,000 |HIXIE=a2
159] 00001221 | X1 AE| = A Bl —
5 ENEECEE: Sl 30,000 |HIXE=aA2
159] 5020120 S— N N A xk -
3 1 | NtAts s Tl 10,000 |HIN==22
159] 00001221 | K1 AE| = h A = —
= i |2 are sz ol 10,000 |HX==aA2
759 20201001 | 1103l = N N 21k -
2 1 | Nt 2= JMol 30,000 |HIXIEEa2
1991 50001221 | K1t ALEl & h A = —
9 NSt 2SS el N 5,000 HXE=ES
1600 20901201 | o rial = N Lo -
120 1| XAt 2232 DLl N N 10,000 |HIXZS=AZ
o . O] **
1 0201221 | KIG9AE 2]23 ol N 10,000 HXRE2
160 00201221 | Kt AlSl = N = —
2 BEENCEEES=: ol N 10,000 |HIXNIZ=RAZ
160 20901001 | o el = N O x -
3 AP ENEE e JMol N 10,000 |HIX==22
160 00201201 | Kt AlEl = A Ol —
120 ENCELES= Mol N N 5000 |HIXE=22
o = Of**
120 0201221 | K2 AtS) 212= Jiol N N 10,000 |Hix==212
o . ESELS
6 | 20201221 | I AS| 2RZE el N 10,000 |HINZEEAZ
160 00001222 | K1t A3l = " B —
2 NENEELEE= S0l N 10,000 |HIXE=22
160| 00001203 | X1 Al = A S —
8 ENEECEE: Mol N 30,000 |HIXE=aA2
160 50001203 | X1t AlSl = . —
9 XHAE S22 JHel N 1,000,000 | N3
1611 00001203 | X1t AE| = i —
1& NSAe S R=S Kol N 20,000 HXE=AZ SACMS
00201223 | NI AtE] B2 S -
1 |2 AIS] 2= 30,00 =
10,000 |HIXIZ=E= S4CMS
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NO. @%% S22 = —
— SR3ER AR RE E%‘mxgl% IR SEH
— s sax
1253 20201226 | XISALE] SRS E JHel NT 012 F LK< =oH D=
2 = S M**
123 0201226 | K12 AIS| 22 = S0l N 50.000 | Nm=2=
o . 2 x*
123 0201226 | KIAtS| 2122 Jhol N 1,000,000 | WE=a=
o R Bhxx
123 0201226 | XAt =325 JHol N 30,000 e
— Ebxx
83 20201227 | KIiArel BRI2E Sl 50.000 | XNm=2=
163 2020127 | 0o 121 = N . -
123 7| XAE 2ABE | A 100,000 | NS=#3
o . Hxx
63 20201228 | XIMEl 2R2E Jhol N 100.000 | HINE=S
7630 20201208 | 1o rra] = N T _
8 8 |NoAE SRZE| Ko N 10,000 | BINZE2RS
163] 000012008 | X1t AHE| = N S —
124 NENEECEE: Mol N N 10000 |HIXNm==
o . Hoxx
84 20201228 | NI MEl $RDE S0l N 00.000 |HIXZ=a2
1641 50001208 | K2t ANE] = N K= —
i ENCIETEE BT N 50,000 | HIXIZ=RA3
164 50201208 | Kt AlS] = A o —
2 NENWEREE el N 10,000 |HIXNZ=RAZ
1641 50001208 | X1 AE| = N A —
124 NSAe S2A=S JHol N 10,000 HXE=AAZ
o . S**
®4 20201228 | 112 AtEl $RBE Jhol N 10000 |BIXm==
1641 50001208 | Kot AE| = A Ol —
124 ENCELES Tl N 30,000 | HIXE=a=
20 = S &**
5 201228 [ KIYAts 22328 ol N 20,000 |HIXE=2A2
164 50201208 | X1t AlSl = A S —
2 NENEECEE: Mol N 10,000 |Hix==s=
1641 50001008 | X1t AtE| = N i —
8 XS SRS ol N 5000 |HIXES2Z
164 50201208 | Kt AlSl = . —
9 NENSIETEE= Jiol N 10000 |BIXm=s=
N [ L )
O] **
10,000 |BIXEEH
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No.| olgig SASBR saxne |2RWIE | ITQEA =27
185l 20201228 |TIoAtEl 2R2E | Jhe " O1NT :I“ LH 3% | ZENEG HI D
125 20201228 | KI%AtEl A2 E ol N N ; 1,000,000 | XN&sA2
125 20201228 | KISiAtSl 222 E ol N ; 500,000 | XM=
EZ 20201228 | NI AS| 2@2E |  oizie N N ; 10,000 |HiNE=aD
S 20201229 |XIAtEl 2222 | JHel N N — 30,000 |HIXESA2 &40MS
E 20201229 | XIiAIS] 2RZE|  JHe! N - — 50,000 | XNF=A2
125 20201229 | KIS AtEl A2 E ol N ;** 1,000,000 | XIS
125 20201229 | XI%iAtE] 2RZE|  JHe! N — 100,000 | NESA=
125 20201230 | KNI ALS| 2RI2E Mol N : 200,000 | Nm=e2
122 20201230 | XISiAEl SRHZE| Mol N — 10,000 |HIXIESAD SHCOMS
o 20201230 | XIGAIS] 2RA2E|  JHel N i i R =E0MS
i 20201230 | XIALE] 2RIZE|  JHel N — 20,000 |HIXESA2 &40MS
1 20201230 | KIALE 2R2E|  JHel N Shas UL L i
S 20201230 | XI%IAIS] ZRADE| I N N — 20,000 |HIXIEEA3 550MS
126 20201230 | KIALE 2R2E|  JHel N (or 000 |AReEES SEOMS
122 20201230 | XAt S22 | DI2tcH N N - 20000 | HINEFES =2dCMS
L1 20201230 |XISiAtS] 2R2E|  Hol N - 20000 | SIAEFES =24C0MS
i 20201230 | KIALE 2R2E|  JHel N N Elex ML i =50
29| 20201230 | KItAtEl 2RBE|  HQ N N - 20,000 |HIXESAD

50,000 HXEZ=Z SH5CMS
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No.| oigy SAZER sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l SR LH =X oE

180l 20201230 |TotAtEl 2R2S |  Sl2Ed N N S 10,000 | HIXIE

1871 20201230 | T MEl 2228 Hol N |+ 20,000 | HIXIH

187 20201230 | TI2tAtEl 23S | Sied N N Obix 100,000 | HIXIN=

197! 20201230 | TIiMEl 2R2E JHol N =1 50,000 | HIXIH

1871 20201230 | T M3l 2R2E JHol N N Kk 5000 | HIXH

197 20201230 | xIetMEl 2R2E | B2t N N T 50,000 | HIXIH

187] 20201230 | W1 MEl 2R2E Hol N Bt 150,000 | HIXIE

1871 20201230 | K% AtEl 2R2E ool N St 20,000 | HIXIN

1871 20201230 | T MEl 2228 ol N o 50,000 | NH=

1871 20201230 | K% AtS) 2R2E Hol N £k 10,000 |HIXEE

1871 20201230 | X1t MEl 228 JHol N T 10,000 | HIXI=

188 20201230 | NI M3l 2R2E JHol N 2k 10,000 | HIXIE

188 20201230 | 12 Mal 22128 JHol N =1 50,000 | HIXIH

188 20201230 | T MEl 2R2E JHol N =1 20,000 | HIXIH

188 20201230 | X1t MEl 2128 JHol N Al 10,000 | HIXI= =
188 20201230 | T MEl 2R2E ol N Al 10,000 | HIXIN =
188 20201230 | X1 MEl 2RI2E Hol N 0l 20,000 | HIXIH &
188 20201230 | T MEl 228 Mol N - 20,000 | HIXIH =
188 20201230 | TIoiAtel 2R2E Jhe! N = 20,000 | HIXIN 5
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